Spec Review S¢gH&

OOPT 1000: Planning A
« 1001. Define Draft Plan

* Non Functional Requirements

Non Functional Requirements
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» 1003. Define Requirements
o Performance Requirements

o XHEI| ZH S4 SE AIZHO[ 1= O|UHZ - HE[0{OF BICE.
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3.3 Performance Requirements

- Network MessageS2| 85T = 01s2HM 0IFH A0 HE52E 2T 2Ok
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- MEZXJIscreenlil £ £ oS J|s0| A= 2= A2 0.1
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SRS 3.3 Performance Requirements &=, 20p
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e 1004.Record Term in Glossary(p.7)

e oo oo e
Stock Ao
- A =
Count Item2| S=3F
v PR = R S, [ | Q| by -4

StockZt CountO| 2A4 22 EHOE ALEE|D JELICL 22 90|E =8¢t =0,
Stock2 'EF(Item?| Z])' Q2 1X|7{L} 252 E0|7| sl et 7IX| B2 EUst= A
0| Z&LILCE.

CES StockS Mo 'S EHSH Zo(2tH "X CiMof| " D O 2 S-Sk OF FL|CY.

e SS LIEHY S THofX| $2+2 E3st= Thofst opEL|Ch
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e 1006. Define Business Use Case (p.9)

o ldentify use cases

= UANEL VEDULE IVIAGIHIIE . B O R YIS I TR T
- ldentify use cases
- Use-cases by actor-based
- Set Up, Select Mode, Select Item, Purchase, Select
Venficabion Code
- Use-case by evident-based
- Show Item, Check Stock Count, Update stock, Che
Create code, Show Code, Item Out, Check Venifica
Message Request, Message Response

- Allocate svstem functions into related use cases
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'Use-cases by actor-based 0fl Use-cases by evident-based?®! 'Set UP'0| &l
&LICH Set up2 %% 203 MHA| SEE[= UseCase 0|22 HiddenO| H&L
Ct.

Use-case by evident-based 0l|A| Use-case's' by evident-basedE 2E} +H
SEFEZLC

e use case diagram

system
o s r ™
. show verification
L set up show item
code
O — AN J
R — N/ N
< - select mode check stock count item out
. _J . AN J
¢ A} ™
Actor ( A
R L select item update stock msg request reply
N A vy
O . s
check verification
R purchase check payment code
-~/ AN J
Ty 4 N
select advance A reset verification
NS payment location inform code
N o/ N RN
read verification create verification
. code code
N~ O/ N~ O/

'set up'2 hidden use caseZ actor?| g{0{0F Sh=0| diagram &0|M= /U= A2
2 J2{™ A&
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UseCase?| B& @F
(81 ¥5=) > manage stock, advance purchase
msg request reply - message request, messge response

location inform = inform location

U l ) Other Vending
ser
DVM Controller SW Machines

Manager

(= 2| J2!(Define System boundary)dl= Manager ActorZt Q=6 v2 HHOM
UseCase DiagramOi| Actor2t HEA|E|{JYELICE User2t Managerg F#+26+0{ 2t
2t UseCaseE A&l UseCase Diagram= LtEtLHE= 20| EELICE

2l LB E2 2030 2MEE| Refine 20| 2 TXA o] 57|38 FEICYLIL

¢ Describe use cases

e 4.Show ltem

Use Case 4. Show Item
Actor None
Description AR HA 2R g] Ao FEd] Adggle] Ao isE 2 n s
Heolzrh
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"AFEXIIL R AT 2 RROf| G20 Fof s E'E EHELL" >
"AFERIZL R AHE T (9| xH 1 RROf| Eelo] Ao Tttt RE SRE EXHE

Ct" 2 FA|etet] =3 SEIEEL|CE
« 7. Update Stock

‘— Q. HXAOZE SF FO{A|(=FR2. 5=UC8)' e 'MIAMMBER SF FOHA|

(=FR2.8=UC11)"' == '22|Xt7t M1 HAA|(=FR1.3=UC3)' 0| 37}X| Z<0j
s vMel T 7 HEEAS S broadcastE Soll 2 HIZ LM EE VMEQ

Mo MEE of &2t 3712 Al7|= AAX|
VS
OfL|H O] 37}X| ZROIC} broadcastE ot= 20| OfL|2} CHE VMO| 1 HE
£ oNd o SET 5= ARIX| S L Ch
(OOPT 20302 OOPT 2040 EAMO|A L OFXEZEX])
A.local M1 3Z =, remote0f| {2 Z4A @ES TISHSHL|CE.

2 v20llM Flow chart7} 52| HAM A|2AE o £~ glof L2 HEeiL|C}.
E| Z2Q XIES X|XHAM HEFC 2IL|C},

e 12. Inform Location

Use Case 12. Inform Location
Actor None
Description -2 AR 2 58H 59 meg?l =25 & 2 S5 S use case.
AN HE S SR E BolSR Ut AW AN E Bel B

"~ ALEXI0A| et SR E HONSt A= AHET|Q (XIS BHFCH > "- ALKt
A, defol 2 E Holstn A= BE XHHI|Q| 9K E L EL" 2 T REIEEIL
Ct.

¢ 15. Item Out
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‘- A7 A2 El SR E HM|Z26H= use case" > "N &ARE 22 E H[2St=E use
case"
> AtASHEH £H-0|E2 HoZH = ElLICt.

o« ERXIE (p11)

FR flow chart

(o] =

’ set up all }_-,[ select mode
[ show item ] l read verification code ]—pl check venfication code ]—»l item out |—

[ select i l_.l sheek stock cou ]_..I —— ]_...l chieck paynmont I
5 11 4

= o ———— get vim address ]=-’ MEessaEe request } update stock
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» 1008. Define Draft System Architecture

MY eyl

21718217 F5 2L
HH Mo e

5 M

¢ Q1001 Define Draft Plan2| Motivation0ijA= & MHE FX| g4=Ct1 Y=
1008. Define Draft System Architecturedi= £ A J2!0] J2{X UA&LICE,
ofte 20| BH= HItR?
A. next versionO|2t11 &YX (et 22 FEE 2ate Al=lo[1, of JWLTHA ARI2
OFglL|CY.

e 1009. Refine Plan (v2 p.19)

o Functional Requirement Test Case

"Set up"E Usecase EYILICE Functiond2 Set up allO]2 2 p.9of| Ho|El
Fucntion 0| EQ = &St AOFetL|Ct.

¢ No.6 Check Stock Count
» Negative Test Case

o M7t A=Hl LI MotshE 2, CHE AHEHY|Q [ 5 QI

!

6 Clieck Stoek Count 1718 A af st 1. A 27} 2l =
dA & e g et getate A5
Al chedHE 2 Agr) ] An
s} & a3g]
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Q. O|A| & =£217tR?
A. localdll {17t @110 remoted| {17} Y= HLE LIEFHL|CE.

"XHEEZ|off Rj27F SAX|CH CHE XHEE2|off 7} = ER'E o8 RE!
gL},
¢ NO0.12 Location Inform
o Positive Test Case
"CtE XHE7|Q| fIX|E EHIC}" »> "2 AZE0| TojE[= 2= XHH7|9| 2| K]

9
2 xS E O XHM|SHA| 2 BEtE 2L C}

¢ No0.18 Reset Verification Code

¢ Positive Test Case

o AIREI FEE W7|6t0, ZE X}EL7|0f YA BT

o.__l__

JAVA HO{E A2 S i JDK B 20| WOoFgtL|Ct.

Resources
Man Month : 5 Persons
* A Team Leader
+ A Document Manager
+ 2-3 Engineers
Penod : & Days{ Around 20Hours)
Hardware : Intel PC
Software
+ 05 : Windows 10
* Programming Language : JAVA
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o User Interface requirements

User Interface requirements
- U} AT olo]o} @it}
- AL AMEBE ARE T EAG] AHEE 4 Qofok Bk

"UIZF Z| 21X 0|0{0F BICH'E FMIH Q2 LIEHE + Ql= etat o ]
StAL, g2 = A8 E0|22 ofH R A[ARS #IX[OpetCh= LHE0] =7t

I

[ OfOF RfLICH.

OOPT 2030 : Analysis &A

o 2131. Define Essential Use Cases

Alternative Courses of Events2t Exceptional Courses of EventsO|A] Line
number?| mapping0| ¢ &= ALS0| JUSLICE (OOPT 2040 A = OHEIZEX| L
Ct.)

e 1. SetUp (p.3)

e Cross Reference

Use Case 1. Set Up
Actor MNone
Purpose (business use case™] EEH
Overview (business use case™] EFH
Type Hidden

Cross Reference | System Functions: R1.1, R1.2, R4 1 R2 4 R4 1
Use Case: “Message Request”, “Update Stock™, *Select Mode™

Pre-Requisites | N/A
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Q. R4.2= off §iLIR? (OOPT 2040 EA T OHXEIHX])
A. SESHENM AR EIASLIC

"R4.1"0| ZEE|UODZ AtY| HEtE2IL|C}
» Typical Course of Events

2. (S): "C+E DVME| [ E ROt2L}" » "CHE DVME| [t HEE 2ot
Ch'z2 3 SE=EL.

3.(S): "XHE7| ;{2 S YH|IO|E otrt! » "2E XHHI|Q| [ HHE YO0
SICh 2 3 REISEILIC

o Alernative Courses of Events

Alternative Line 1. (A3)2] 5-go] 3 o|4 2.7 @& A5, i (A2 A7) gz
Courses of Events | 5., e}
=0 W .

Exceptional N/A
Courses of Events

Mol L8 2 CHE M3 AILIZ|9] Atal|7t otL|2t o220 Ciet 2X0|22
Exceptional Course of EventsZ £7|= Z10| MEs| 2IL|C},

e 2. Select Mode (p.4)
¢ Alternative Courses of Events

w — e = =

Alternative Line 1. A 713 BR=& T4l 4498 A5 370 R =2 7153
Courses of Events

Exceptional N/A
Courses of Events
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2 S0 MEsHs ZQTE M2 4 BLICH T2t ST LIS ARIX2Iots 2
JEa

e 3. Manage Stock (p.4)

Cross Reference | System Functions: R1.3, R1.2, R2 4
Use Case: “Select Mode™, “Update Stock™

Pre-Requisites | N/A

Typical Courses | (Al): User, (A2): Manager, (A3): Other DVM, (5): System

Lt I (A2 &7}5) S 2o] Ans el s}
2.(Sk & A g o] E s}
3. (8): “Select Mode™ & -2 3}
Alternative Line 1. 71&4 &2 2874 9l 25 F718 A5 =28 355

Courses of Events = }ate] o] o] st}

Line 2. 552 AA3E o] E T 2§, 74400

=

Exceptional Line 1. 5 77 7/& 238t A5 dgE 248400,
Courses of Events

Line 2. A 317} 0 o] ko] A “25% 5 {17 dlA[2 & 580

e Cross Reference

Select Mode= Ml ZZ10|E 2 AH|SHD, Pre-RequisitesOll F7t5H= 40| £
&LICt.

e Pre-Requisites

Cross Reference?| £d0f w2t "M 242|E FELCH'E £+t
C.

rr

0

O
o>
-

e Typical Courses of Events
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1. (A2) : F7tHEl
> "$7f5l =& ¥
z@ygamn%%ﬂ et

= -

q--; SEILICH HI's 422 LiEj= *017} °h=lL| Ct.

¢ Alternative Course of Events

Line 2. "2 M1 E AUCIO|E & 2R, ZAAIZICE" > "YU E 20| 3+ B2,
Wne g AT 24 AZICH" 2 THSHBI0] ZY HEf=RLIT

o Exceptional Course of Events
Line 2. "X{117} O O|2tO|H "HREl gt HAIXIE SZSCE" » " Zot o4 M
ZF0| O O|2HO|H X|MSHE oX| @b, ‘AR E 7t L2 HAX|E EHSICL'E 7 2

et

e 4. Show Item (p.5)

Typical Courses | (Al): User, (A2): Manager, (A3): Other DVM, (5): System
ofBvents || (5) g2 388 % uolR0}

Alternative MNiA
Courses of Events

Exceptional Line 1. 34 HEE 529 “Select Mode™ & -2 3§,

Courses of Events

e Typical Courses of Events

1.(8): "B ¥d=2 25 EHEL" - 207HX] 2= U8 HEO| Z3E= &%
02 "207tX| 22 MM HES 2F BHELL"Z +=F&LCH

e 5. Select Item (p.5)

e Typical Courses of Events
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Typical Courses | (Al): User, (A2): Manager, (A3): Other DVM, (8): System

of Events L (Al) AHEA} ol gl a) gt -85 dgan.
2. (8): A5 & 2o of & “Check Stock Count™ & 4 8§k}
3-1.(S): A7t A= 25371l 2129 “Purchase™& 2 W F0t
3-2.1.(8): A7 o2 Ay o] 2128 “Select Advance Payment”™ &
Ha g,

3-1HES 302 1, 3-2 L8 & C}2 M2 ALIZ|20|2 2 Alternative
Course of EventsZ 0|SA|7|= A0| E&LICE

e 7. Update Stock (p.7)

Cross Reference | System Functions: R2.4, R1.1, R1.3

Use Case:"Set Up”, “Manage Stock™

Pre-Requisites | #3135} sfob= = &5 Huet 45 o] 3128

Typical Courses | (Al) User, (A2): Manager, (A3): Other DVM, (5): System
ofEvents | | (). e5of tlsh AxS H 5 s

& at *TiE

e Cross Reference

CHE XM (ol A MAXH 5l S 2 M0 MEJH HRHE m = 4 Al0] LojLtof st=
2 Use Case 20. Message Response(R4.2) = Z7}+&|0{0f BtL|Ct,

e Pre-Requisites

‘A Msket 'YH0|E & JHXIZ 80{7F 28|10 =], 80l S¥El= HO| &
St

» Typical Course of Events
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1.(S) : "S 20l Tl HDE =
2E HEl0|E Bt 2 2FS

¢ 10. Check Payment (p.8)
o Exceptional Courses of Events

L OUTsSES O EVENLS

Exceptional Line 1. 4591 24 7l=7) opld ~22 1 Flerales o F oA A&
Courses of Events = o

2050 M E EUS Wl s GX 2| A2 EXSHA| BEUASLICH M2t o
E7E AHSHE 20| ESLCH

¢ 11. Select Advance Payment (p.8)

Cross Reference | System Functions: R2.8 R2.3 R2.6 R4.1, R1.2
Use Case: “Check Stock Count”, “Advance Purchase”™, “Message Request”™,

“Select Mode™

Pre-Requisites | 557} =i

Typical Courses | (Al): User, (AZ2): Manager, (A3): Other DVM, (5): System

ofEvents 1) (A1) xelgt grol ds] H7ojs A
2(8): A= E & wof dial] “Message Request™= A & 213}
3(8): o A& Ar} ghobalohd “Message Request™ 2 T2 2Apgto]of gl
S8 Aug e
4(8): A7l A& B @S
Alternative 1. 83 48 0 FE F - AHEAE B Ay g

Courses of Events

Exceptional | Line 1. 328 & 5 “Select Mode™ 2 Eo}7ir}
Courses of Events Line 1. 912 2 7] & & 5 “Inform Location™ & -2 3 g},

Line 3. 427} gl 54 o A1 2] & = 531, “Select Mode” 2 S0} 7

e Cross Reference
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Select Mode= M| 7tX| REE ME{SH= Use CaseO|E £ Cross Referenceof|
MAESHX| E&LICE M2t R1.2(Select Mode)= AFX|st= Z40| E&LILCL.
Pre-RequisitesOlA] 0|0] 'Select Item'(R2.2) Usecase?t XISl AEfo|2 2
R2.2& 20| F7t6tX| ot EL|CH CHAl Exceptional Courses of EventOi|Af
"Infrom Location"0| #HE|DE R2.98 F7t5H= 20| WELICE

o Typical Courses of Events

"AlElSh S =0f chol 5ol

-~ =
%
rx
-1

=
i
rx
iz
rot
_|T|_
J

o Alternative Courses of Events

SHE LH22 of|2| X2| AF&0|2 2 Exceptional Courses of Eventsdi| QL{OF 34
SLICE X[t 205001 FoiEl T2 M2 HE YO R FISHE|o SAlof A=

2
El= 327t SRR 5T E7E AHlsH= 20| E5LIC

o Exceptional Courses of Events

Lt LRSS £ L2 M2 A|LI2|2 0|22 Alternative Courses of EventsZ
F7|= o] E&LICL

e 12. Inform Location (p.9)

By pausecnn

Cross Reference | System Functions: R2.9, R2.8, R4.1

Use Case: “Select Advance Payment”, “Message Request”

Pre-Requisites | & 57} A=)

e Pre-Requisites

KL HES 7E B2 =22 "S=It MEE"0| OfL|Zt "?IX[27]E =
E"Q 2 H¥|0{0F BfL|Ct.
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¢ 13. Create Verification Code (p.10)

Cross Reference | System Functions: R2.10, R2.6

Use Case: “Advance Purchase™

Pre-Requisites Mellg Eaef g 247 g5y

Typical Courses | (Al): User, (A2): Manager, (A3): Other DVM, (5): System
offvents | sy qze Au] meg Py Bk

¢ Pre-Requisites

Sr getst "dEE S =0 oiet UZRTt &2 E 02 7 HEEEL|C

o Typical Courses of Events

1.(S): "M22 M0 TES YABCL! - "6X2| o] M0 AES Yy
Ch" 2 £ 8}OF BILICE. OOPT 1000 2A0IA 00| §AFEl LZ0l7| 22|
ct.

e 15. Item Out (p.11)

o Typical Courses of Events

Cross Reference | System Functions: R2.12, R2.5, R3.1

Use Case: “Purchase”, “Read Venification Code™

k]

Pre-Requisites | A5 S-5of gk 247 55

Typical Courses | (Al): User, (A2): Manager, (A3): Other DVM, (5): System
of Events 1.(S) Heg] 238 A Tact

Alternative MN/A

1.(s) : "dEE S2E MSettt” > "HiliE 32 E MSUL2 +F REEE

L|Ct.

e 16. Read Verification Code (p.12)
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Cross Reference | System Functions: R3.1, R1.2, R3.2, R3.3, R2.12
Use Case: “Select Mode”, “Check Venfication Code”, “Reset Venfication

Code”, "Item Qut™

Pre-Requisites N/A

Typical Courses | (Al) User, (A2): Manager, (A3): Other DVM, (5): System

of Events (Al 470 Z=8 9l=g)

Altemative | Line 1. A1) 91217h4] $2HE 78 29 op#21% Q2ux) ek,
Courses of Events

=

Exceptional Line 1. {45 7535 “Select Mode” 2 So}3hc}

Courses of Events

e Cross Reference

SiE UseCaser= 0]0] 'Select Mode'7t M El AEHO|ZZ R1.2= AMHISH T &l
L|Ct.

e Pre-Requisites

"Select ModeO|A| M0 HES S+E."0[2t0 HBfL|Ct

o Typical Courses of Events

"dF0 ZE 62| E YHTIL'E FHHLZ +FELCH

o Alternative Courses of Events

Exceptional Courses of EventsZ W22 &ZILICt.

o Exceptional Courses of Events

Alternative Course of EventsZ LH2& &ZIL|C}.
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e 17. Check Verification Code (p.12)

Typical Courses

(Al): User, (A2): Manager, (A3): Other DVM, (S): System
of Events

L (8): 95d =& 7HH 2 sl A4

e Typical Courses of Events

((S): "YE AES JIX T UK HABCE > “YRE

AN

« 18. Reset Verification Code (p.13)

Typical Courses

(A1) User, (A2): Manager, (A3): Other DVM, (S): System
of Events

L (S) AHE-3t 7] m=9] FBg 2 gc)
2. (8): “Message Request™ & T8 B @7 A s)d = =7}

5] 9] 25 Broadeast $HC}

e Typicla Courses of Events

e 19. Message Request (p.14)

e Typical Courses of Events

Typical Courses

(Al): User, (A2): Manager, (A3): Other DVM, (8): System
of Events

1.1 (8): Broadcast2] 5 W Ef Tl 553 B (A3 Al Bz}
& o A 2E A
1.2.(8): Sl Sgs whadoh 1 (8): 534 (A3l Al vl =5 2
A, ;M (AN A e A A E
Al

2.2(5): BT g vy

)

i
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o 2132. Refine Use Case Diagrams (p.15)

2132, Refine Use Case Diagrams

System

update sTock

message request

Actor (A1) >
MESSAGE rEsponse
select advance Ccreate Actor [A3)
wverification code
Shiow
varification code verification code
man. K
Actor (A2) anafe SIoC

(0
BOOBEO00NOE
W

* (Al): User, (A2): Manager, (A3): Other DVMs

(1) 'set up all' function EILICE. 8iE functionfl CH2E|= UseCase A2 "set up"0|

o2 43 RetsgL,

11

LICt. s functionOf| CHSE[= UseCase BAI2
|L|C}.

(2) 'location inform'2 function &
"inform location"0|2 2 X HEIC

L

Spec Review E&&
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« 2133. Define System Sequence Diagrams (p.16)

2131. Define Essential Use Cases &52| At 3HA| LE LHE X HEI=ZILICE

o 2134. Refine Glossary (p.22)
o Stock: Item2| M1

e Count:ltemQ| $=2f

Q. Stock2 DVM HAH|of| 2X L= Iteme| & 7§40|12 Count= EH VM L0 =

ltem2| 7H217t2? (OOPT 2040 £A{2| Class Diagramoi| stockO|2t= H47t gl

= 2 B3 3% =FYSLCH)

A. = Ch 22 20|12 MEE|1 ASLITE Stock2 AHSHASLIC

OOPT : Software Requirements Specification =A]

1. Introduction

o 1.3 Definitions, Acronyms and Abbreviations

Spec Review gt
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1.3 Definitions, Acronyms, and Abbreviations

No. Term Description
1 SW Software2| 21t
2 DVM Distributed Vending Machine2| 2} I}
3 )| DVME & CHE T &
4 Mode MEIIWM AAZX0H HSots ME RE
0: showMode, 1: Q?DHEC
22HEHIMBENE 25,3710 22 2=
5 ltem FEINH B = S=
6 Purchase ltemi CHEH 2 HI
7 Payment lteml CHet 20 HHeZ S0 &#EI20HZ
L&
8 Verification Code 0 2ERHS
9 Stock ltemZ| T J
10 Advanced e MEI0 U= SS0 UE A0 J1se =
Advancelt EHRS EF A0 ZHE = 2|0
11 D FFEI ML 'l 178 000 2 DVM
HEHIWA AHEINIE AESH= 00T
12 Message DVMZt HIERI AWM S& 2 E=ot=s HAL
13 Msg messageZ| =2f (4
14 HW Hardware2| i}
7 15
16
17

e

15~17H0| ZZHIL|CE,

2.4 Constraints

Spec Review E&&

M 2 M0f| M= Count®t StockO| 22E[/1
ZMof|ld= CountZt AHH| &

o
1>

M REF=ELIC

, StockO| 2 HHO{E AMH|SH7| 2 SA2LE
11, StockO| HOIAFLICEH SBH= 20| ZSLIC.
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CHSE A
H0=2 T

o SA0| = 7H Ol &tel HAX|E &t

K=} H
S HA

)

51|

—_

2050 2A0jA 7
70| E&LICt

HE

e 3.2 Functional Requirements

e 3.2.9 Item Out (p.17)

3.2.9 Item Out

__'.l. =
=

W=

FAAEID Reqg-9

FHAAEE Show Verification Code

M=

0lo
Hu
M
=
0t
[

[

A8 EH

]l
Fu
A
rx
2

m

O RALCH

L
o
]l
F
=

I Choll 2RI 2=

AL 7=

x| Brx
JB | 32 R

(jill

oo
I
i
=
01
i

o

ALiel2

-

& 2FAFLEO|
o 3.3 Performance Requirements

3.3 Performance Requirements
- Network MessageS2| M &

L}
- AFETZIb screenlil 22 = 2 =0
QI LHC4 OF &+
UM ZMOA S AZE2 1% O|LHY| O|RO{X|=
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OOPT 2040 : Design 2A

o 2141. Define Essential Use Cases

» Traceability Table : Funtional Requirement <> Use Case <> System Operation(Zi'd)
< Method(ZE) < Unit Test Case

¢ UC e UCUse Case7l|2[] = 2tA|0]| Chet BAIZ} JARALH ZZELICE

e 4. Show ltem(pg 4)

Typical Courses | (Al): User, (A2): Manager, (A3): Other DVM, (5): System

b . (8): BE lteme B5 HolFr)

G- Q ZEOOIBE 25 BHENSA 280 SRS DF EHEC= 20jevta?
A. 229 ZRUS B0 ECH= Q0| YUL|Ct

« 5. Select Item(pg 5)

Use Case 5. Select Item
Actor User
Purpose (business use case®| E )
Overview (business use case®] E 3
Type Evident

Cross Reference | System Functions: R2.2 R1.2, R2.1, R2.3

Use Case: “Select Mode”, “Check Stock Count”, “Show Item”

Pre-Requisites | “showlrem™o] 2 215

e Pre-Requisites
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e 6. Check Stock Count(pg 6)

Use Case 6. Check Stock Count
Actor MNone
Purpose (business use case®] EFH
Owverview (business use case®| EFH
Type Hidden

Cross Reference | System Functions R2.3, R2.2, R4 |

Use Case: “Select ltem”, “Message Request”

Pre-Requisites | ftem®] &= g}

e Pre-Requisites

& Q. % % MEdstD 7(H_’E 3.*°| ot= REO0IL| MEfSE XHE7| 2] "modeZto] 10|
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e 7. Update Stock(pg 6)
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Use Case

7 Update Stock

Actor MNone
Purpose (business use case®| EFH
Owverview (business use case®] EF
Type Hidden
Cross Reference | Svstem Functions: R2.4, R1.1, R1.3
Use Case:“Set Up”, “Manage Stock™
Pre-Requisites | #4135} s ofs] = fiem™ B0} 2] 13} gho] 23 &
Typical Courses | (Al): User, (A2): Manager, (A3): Other DVM, (5): System
of Events

1. (S) : dtem®]] D& cownt 5 3213 T}

& Q S22 M11It o= AFE|M UpdateELtR?

8. Purchase2 9. Advance Purchase(pg 7)

Spec Review £

St
=

=

Use Case 3. Purchase
Actor User
Purpose (business use case*] 7
Overview (business use case*] 7
Type Evident
Cross Reference | System Functions: R2.5, R2.7
Use Case: “Check Payment™
Pre-Requisites 1. ftem©] A €8 =] $1 1 made ko] 1 o]t}
2. count =0 o]},
Typical Courses | (Al): User, (A2) Manager, (A3): Other DVM, (8): System
ofEvents |} (A1) sl== @
2. (8): “getPaymentResulE -2 8 dhe] ZTHE Wol wkgSic}
Alternative NiA

Courses of Events

Exceptional
Courses of Events

Line 2. A A s A] [2A] dafljolzl= 82 prine & 4 3 g}

26



Use Case 9 Advance Purchase

Actor User
Purpose (business use case®] 7
Overview (business use case™] E7hH
Type Evident

Cross Reference | System Functions: R2.6, R2.3, R2.7

37

Use Case: “Select Advance Payment”, “Check Payment

Pre-Requisites L. ftem©] A= ] 1L isddvance?} true @] o}

[ Q. Use Case 8812 Mode=10|HA| isAdvance=false0| 11
Use Case 9H2 Mode=10|H A isAdvance=true2t= Xt0|7t Q=
J=CHH 1O Xto|E BHestA| & &= AEE Pre-Requisited| BAIHS
Q. isAdvanceZ} #7tR7?
A. 2 MAME g ZHEESEA| ML jsAdvancet ture®l AL SHEO| ZENA M
TOHE AHAE 32 LICL

d¢l

2e17te?
HEAUR!

e 11. Select Advance Payment(pg 9)

Typical Courses | (Al): User, (A2} Manager, (A3): Other DVM, (5): System
of Events (Al AHF freme] i3] A7 S degic)
2(8) A= ftemell =l “sendMessage™ = AL E HA T}
3(8): oA 3] A} Felel b A “sendMessage” 2= THE Ao ale
frem2) counrs FHe),

4(8): “advancePurchase™ = 2 4 g},

e Typical Courses of Events

o 3.(S): o§H3B| M7} otQICHH “sendMessage”Z CHE X7 |0f /L= Item 2
countE #=Ct
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& @ O VM| countE %00} St=X| O{EH| & = JALIK?
A. 2E VMQ| countE #11, MEXN ZE LHA| F0i2t VM H[2| St LIH
X VMO siie SE2| countE S7HAIZLICE.
Q. MZF| A MAA| O|2| CH2 XFE7|9] XD (count)E ZH=Ch= H7IR?
A. 4. 0|2] countE ZAAIZI £ MAOHE o VMO AT countE |5t
12| VMOIME e 2 22| countE CHA| S7FAIZILICE

o Alternative Courses of Events

Alternative 1 #7 34E T FE AT AHEAR B AYH 2o
Courses of Events

Ewrantinnal Tina 1 2 A= =2 A Q  phnuldad"2 Eaol7brl
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o 8. Purchase/ Advance Purchase/ 10. Check Payment/ 11. Select Advance Payment
/17. Check Verification Code (pg 8-9)

Exceptional Line 2. A d 2] [ZA] dl]o]2h= WE-2] prineE 2 F}
Courses of Events

Exceptional | Line 1. 4% ¢l 24 7}=7} ohvghl, (258 7h=]e) b N4-2] info s
Courses of Events | ., a5
= el

2142. Define Reports, Ul, and Storyboards
e 7) Show Verification Code(pg 18)
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7) Show Verification Code
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MM = +=HEIASLICE

2143. Define Interaction Diagrams
e (1) Set up(pg 19)
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2143. Define Interaction Diagrams

(1) Set Up
3

: Orthar DM
1 : checkStnekCounts()

L

oo (1, n) I

loop (1. 3)

aCraates |

.2 sendessage(typel meg. i) | Message
{3 requesiTo
! 4 eheckSinsCaunt])

{5 - seaDVMIndaid, Im:::uljﬁ-'

"setDVMInfo" 2Hz|0|M2 DVME| id, location 12|11 item2| count =S AUH|0|ESH=
Z10|B 2 j7HHLZ itemT 20| 'D0{OF TL|C},
= "setDVMInfo(id, location)" - setDVMInfo(id, location, item)

\

 (7) Update Stock (pg 22)

(7) Update Stock

% :Controller Item

: Manager

opt S22/ F =¥>7 J :
. HE‘...

Y e BE R

t alse ) :
opt alse ; : 3 : setCount(count)

1 : return false
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S22 EF 71X 7t 771 £atot A2t 90|17t 2HEHA| LIEFLIA| =FHIEHL|C,

Use Case 7. Update Stock

Actor None
Purpose {business use case®]| Z 7
Overview (business use case®] E G
Type Hidden

Cross Reference | System Functions: R2.4, R1.1, R1.3

Use Case:"“Set Up”, “Manage Stock™

Pre-Requisites | #213} s o= = frem 7 B2} 2 215} gho] 914

Typical Courses | (Al): User, (A2): Manager, (A3); Other DVM, (5): System
of Events L. (S) : frem®l] D& cownt’s 3 413 Fo}

Alternative N/A
Courses of Events

Exceptional N/A
Courses of Events
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@~ Q OOPT 1000 FR Test Case0l| A H{HAL positive/negative 7t £[LIR?
A. use case?| SX0f| %S ™ positive, OtL|™ negative test case 7} ELIC}
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Test Stub

714 Stub(H2 =) =} 2y

o CH29| 27tX| input event2 XHE3t Al7|= T2 2HY

Test Stub
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SHUANN DIRAR SH 32 Mo

XMOo=Z L2 571X| flow?t A= 3t &

oM ot 2t B 0f ol Eot= flow (T1Z0H)
A ot A B 0| S5t flow (M-A0H)

A SHATEO] SISt flow (MAHZERR)

ofzf 1 Zl0l= = flow (BE)
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Alx.“ AlS A
1. % 0 HE
-
1) HF ol
E[i-]i - O X Jgmachine/STUB, .
| pject Run Window Help
P A AR 4 ~ |2
l olle e or D e
result.put(2. message):
& Console
SystemTestStub [Java Application] C:#WProgram FilesW)avaWjdk1.8.0_281#binWjavaw.exe (2021. 5. 19. 2F 10:19:18)
* Ttem 8 : (VM @ = @%) (VM 1 = @%) (VM 2 = 77%) (VM 3 = 4%) (VM 4 = 0%) 2=2=
* Item 9 @ (VM @ = 07%) (VM 1 = @%) (VM 2 = @7%) (VM 3 = 778) (VM 4 = 0%F) =72 ~9=
* Ttem 10 : (VM @ = 27%) (VM 1 = 47%) (VM 2 = 97) (VM 3 = @) (VM 4 = 57) A=z
* Ttem 11 @ (VM @ = @7) (VM 1 = 17k) (VM 2 = 37F) (VM 3 = @%) (VM 4 = O7) OpojA=
* Ttem 12 @ (VM @ = @74) (VM 1 = @7%) (VM 2 = @) (VM 3 = 17%) (VM 4 = @7) o=
* Ttem 13 : (VM @ = @7) (VM 1 = @) (VM 2 = @7) (VM 3 = @) (VM 4 = 17) =z
* Ttem 14 : (VM @ = 57%) (VM 1 = @%) (VM 2 = @%) (VM 3 = @%) (VM 4 = @%) T.0.P
* Ttem 15 : (VM @ = 471) (VM 1 = 97) (VM 2 = @%) (VM 3 = @%) (VM 4 = 97i) HIEI500
* Ttem 16 : (VM @ = @74) (VM 1 = @7%) (VM 2 = 774) (VM 3 = @%) (VM 4 = @7) maret
* Ttem 17 : (VM @ = 07%4) (VM 1 = @%) (VM 2 = 8%) (VM 3 = @%) (VM 4 = 77) =2 &
O examlib * Ttem 18 @ (VM © = 9%) (VM 1 = 17) (VM 2= @AZ) AU 2 = A3\ (UM 4 = OFf) Ora%y
& @] Teststub B O « * Ttem 19 : (VM @ = 87%) (VM 1 = @) (VM | Message X ) ZICO
o * Ttem 20 : (VM @ = 07%) (VM 1 = 3%) (WM ) ==
o temwsl ] i U (X) woroHseLC
O| 2cus Q * Ttem 1 : (VM @ = @%) (VM 1 = @%) (VM 2 ) &8t
B mus [ ez ] * Ttem 2 : (VM @ = %) (VM 1 = 8%) (VM 2 ) Aol
| * Ttem 3 (VMo =0%) (VM1=20n) (WM2==0) (VM3 =204 (VM4 =07) =t
@ * Ttem 4 : (VM @ = @) (VM 1 = @7) (VM 2 = 07) (VM 3 = @) (VM 4 = 87%) 2=zsjo=
. * Ttem 5 : (VM @ = @) (VM 1 = @%) (VM 2 = 0%) (VM 3 = @%) (VM 4 = 274) EA
@ * Ttem 6 (VM @ = 67%) (VM 1 = @) (VWM 2 = 27%) (VM 3 = 774) (VM 4 = @%) oeEl =
* Ttem 7 : (VM @ = @) (VM 1 = 57) (VM 2 = 07) (VM 3 = @7) (VM 4 = 07) mo oo=
- * Ttem 8 : (VM @ = @) (VM 1 = @%) (VM 2 = 77%) (VM 3 = 4%) (VM 4 = 0%) 2=2=
a * Ttem 9 : (VM @ = @7%) (VM 1 = @7%) (VM 2 = @7%k) (VM 3 = 77k) (VM 4 = @%) =72 ~9=
=1 * Ttem 10 @ (VM @ = 274) (VM 1 = 4%k) (VM 2 = 974) (VM 3 = @%) (VM 4 = 574) A=
oj * Ttem 11 : (VM @ = 074) (VM 1 = 1) (WM 2 = 3%) (VM 3 = @%) (VM 4 = @%) ofoja=
1 test? * Ttem 12 : (VM @ = @%) (VM 1 = @7%) (VM 2 = @%) (VM 3 = 17%) (VM 4 = Q%) Aot
@ Ul Test * Ttem 13 @ (VM @ = @74) (VM 1 = @) (VM 2 = @7k) (VM 3 = @7) (VM 4 = 174) 292
5 Varine B * Ttem 14 : (VM @ = 57) (VM 1 = @) (VM 2 = 07%) (VM 3 = @%) (VM 4 = @%) T.0.P
o arious T * Ttem 15 : (VM @ = 4%) (VM 1 = 97%) (VM 2 = @%) (VM 3 = @%) (VM 4 = 97%) HIE500
5 > w [w main] * Ttem 16 : (VM @ = @7) (VM 1 = @) (VM 2 = 77%8) (VM 3 = 0%) (VM 4 = 0%) mHxer
* Ttem 17 : (VM @ = 071) (VM 1 = @7%) (VM 2 = 87%) (VM 3 = @) (VM 4 = 77) 22 =
* Ttem 18 : (VM @ = 97) (VM 1 = 17k) (VM 2 = 07%) (VM 3 = @%) (VM 4 = 07) o=y
* Ttem 19 : (VM @ = 87) (VM 1 = 0a) (VM 2 = 178) (VM 3 = 7%) (VM 4 = o%) ZICO
o - = * Ttem 20 : (VM @ = @) (VM 1 = 37) (VM 2 = @) (VM 3 = 671) (VM 4 = 3%) ==
{0 Task Repositories & i) =] UI2 > UIS
v & Tasks )

Test Stub

2) Mtof
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{ (&) owm - o X
|z || pzmacen || maze
Purch DVMjava
result.out(2. message):
B Console 2
SystemTestStub [Java Application] C:#Program Filest#tavawjdk1.8.0_281#bin#javaw.exe (2021. 5. 19. 2= 10:19:18)
* Ttem 19 : (VM @ = 87%%) (VM 1 = @7) (VM 2 = 1) (VM 3 = 77%4) (VM 4 = @7%) ZICO
* Ttem 20 : (VM @ = @7%8) (VM 1 = 37) (VM 2 = @%) (VM 3 = 67f) (VM 4 = 37) =g
UI2 -» UI6
UI6 -»> UI5
[dzr 2=2]
[#2 s8]
* Ttem 1 : (VM @ = @7F) (VM 1 = @7) (VM 2 = @7%) (VM 3 = 37%) (VM 4 = 3%) =2
* Ttem 2 @ (VM @ = 4%) (VM 1 = 87F) (VM 2 = @7%) (VM 3 = @%) (VM 4 = @%) Aolct
* Ttem 3 : (VM @ = @7) (VM 1 = @7) (VM 2 = 0%) (VM 3 = 0%) (VM 4 = @%) ==
* Ttem 4 : (VM © = @78) (VM 1 = @78) (VM 2 = @7) (VM 3 = @7) (VM 4 = @7) 2==j0/=
I el * Ttem 5 : (VM @ = @7) (VM 1 = @7) (VM 2 = 07) (VM 3 = @%) (VM 4 = 27) BA
8| @] Teststub B - % * Ttem 6 : (VM @ = 671) (VM 1 = @7) (VM 2 = 271) (VM 3 = 770) (VM 4 = @) DieEl =
ol * Ttem 7 : (VM @ = @7§) (VM 1 = 57) (VM 2 = @7%) (VM 3 = @7%) (VM 4 = @%) L 0jo/=
i * . - - - - - =
temwm || mm Ttem 8 : (VM @ = @7) (VM 1 = @%) (VM 2 = 77) (VM 3 = 4%) (VM 4 = @%) 2==
o) * Ttem 0 : (VM © = 875) (VM 1 = 87) (VM 2 = 0%) (VM 3 = 7%) (VM 4 = 0%) =72 29=
O acms g * Ttem 10 : (VM 8 = 270) (VM 1 = 47) (VM 2 = 97%) (VM 3 = @) (VM 4 = 5%) A=#0]
@ - * Ttem 11 : (VM @ = @71) (VM 1 = 17) (VM 2 = 37) (VM 3 = @2%) (VM 4 = @%) ojau=
P tem¥E SEF
8| 2] * Ttem 12 @ (VM @ = @) (VM 1 = @7) (VM 2 = @7) (VM 3 = 17%) (VM 4 = @%) o=
o * Ttem 13 : (VM @ = ©7F) (VM 1 = @7 (VM 2 = @7%) (VM 3 = 7)) (VM 4 = 174) 22y
&l * Ttem 14 : (VM @ = 57) (VM 1 = @7) (VM 2 = @%) (VM 3 = @%) (VM 4 = @%) T.0.P
- * Ttem 15 : (VM @ = A7) (VM 1 = 97) (VM 2 = @7) (VM 3 = @%) (VM 4 = 9%) =500
* Ttem 16 : (VM @ = @71) (VM 1 = @7) (VM 2 = 77§) (VM 3 = @7) (VM 4 = 07) mxg
o * Ttem 17 : (VM @ = @71) (VM 1 = @7) (VM 2 = 87) (VM 3 = @%) (VM 4 = 77%) =2+
=] * Ttem 18 : (VM © = 97%) (VM 1 = 17) (VM 2 = @) (VM 3 = @%) (VM 4 = @%) opEm
| * Ttem 19 : (VM @ = 87%%) (VM 1 = @7%) (VM 2 = 1) (VM 3 = 77) (VM 4 = @7%) ZICO
[T * Ttem 20 : (VM @ = @7) (VM 1 = 374) (VM 2 = @%) (VM 3 = 67) (VM 4 = 37%) ==
© test2 UTS -> UT8
H4ZH 3= gg] 745711
O UI Test [ iy
oy € o [@z8 2 =z]
anous %YM @ : (Item 1 = 22, code = [123456, 123457, 123458])
i > w [w main] *yM 1o
* VM 2 -
* VM 3 -
* VM 4 -
= uIs -» UI7
— §~-n
@ Task Repositories UL7 -» UL1
v (& Tasks ~
IT
3) =&
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Elg/::- 1 — O 3 lgmachine/STU
| pject Run Window Help
}9 3 B i - LA =ReR g v |
F = B8

Lontroller,java vernication ] Purcha

result.put(2. messaege):

B Console

SystemTestStub [Java Application] C:#Program Filesw)avaw]dk1.8.0_281%bintjavaw.exe (2021. 5. 19. 2F 10:19:1¢
* Ttem 17 : (VM @ = @%) (VM 1 = @%) (VM 2 = 8%) (VM 3 = @%) (VM 4 = 7%) =&
* Ttem 18 : (VM @ = 9%F) (VM 1 = 17) (VM 2 = @%) (VM 3 = @%) (VM 4 = 07%) opzs
* Ttem 19 : (VM @ = 8%) (VM 1 = 0%) (VM 2 = 19§) (VM 3 = 77%) (VM 4 = 87) ZICO
* Ttem 20 : (VM © = @%F) (VM 1 = 37) (VM 2 = @%) (VM 3 = 674) (VM 4 = 37) ==
UI5 -> UI8
[“ER 2 4] 74156
[GzA s =g]
* VM @ : (Ttem 1 = 22, code = [123456, 123457, 123458])

*AVM1o:
* VM2
U examlib : gn i -
2 2 . _ : Message X
‘,D_Jf - - H -~ UI8 -> UI7 ¢
o temmzs %;7_' ;__i;;ﬂl (0 mman.
0| 3cus M2H 3C p * Ttem 1 : (VM @ = &%) (VM 1 = 87%) (VM 2 ) =8
1= I * Ttem 2 : (VM @ = 47%) (VM 1 = 87) (VM 2 ) Mo
2| * Ttem 3 : (VM @ = @7F) (VM 1 = @7) (VM 2 = @71) (VM 3 = @7) (VM 4 = 074) et
o * Ttem 4 : (VM @ = @7F) (VM 1 = @7) (VM 2 = @7) (VM 3 = @%) (VM 4 = 07) 2E=t0j=
& | * Ttem 5 : (VM @ = @7%) (VM 1 = @7) (VM 2 = @%) (VM 3 = @%) (VM 4 = 27%4) =4
- * Ttem 6 : (VM @ = 67%) (VM 1 = @%) (VM 2 = 27k) (VM 3 = 77) (VM 4 = 0%) 028 s
- * Ttem 7 : (VM @ = @%) (VM 1 = 5%) (VM 2 = @%) (VM 3 = 0%) (VM 4 = 0%) = ol0j=
N * Item 8 : (VM @ = @7%) (VM 1 = 07%) (VM 2 = 77) (VM 3 = 47%) (VM 4 = 07%) 2==
- * Item 9 : (VM @ = @7%) (VM 1 = 0%) (VM 2 = @%) (VM 3 = 77t) (VM 4 = 0%) =72 ~g=
=1 * Ttem 10 : (VM @ = 27t) (VM 1 = 4%) (VM 2 = 9%) (VM 3 = @%) (VM 4 = 57%) A=20l
™ Sere * Ttem 11 @ (VM @ = @) (VM 1 = 170) (VM 2 = 3%) (VM 3 = @7%) (VM 4 = 87) ojoja2
& test? * Ttem 12 : (VM @ = @) (VM 1 = @7) (VM 2 = @%) (VM 3 = 17) (VM 4 = @7%) aco=
& Ul Test * Ttem 13 : (VM @ = @) (VM 1 = @71) (VM 2 = @%) (VM 3 = @7) (VM 4 = 17) =2y
& Varios P * Ttem 14 : (VM @ = 57) (VM 1 = @7) (VM 2 = @7) (VM 3 = @7%) (VM 4 = 87%) T.0.P
. arious ¥ * Ttem 15 : (VM @ = 47) (VM 1 = 971) (VM 2 = @7%) (VM 3 = @7%) (VM 4 = 97) H|E500
5 > w [w main] * Ttem 16 : (VM @ = @7) (VM 1 = 0%) (VM 2 = 77) (VM 3 = @7%) (VM 4 = 0%) oxgt
* Ttem 17 : (VM @ = @7) (VM 1 = 0%) (VM 2 = 8%) (VM 3 = @7%) (VM 4 = 77%) =2 &
* Ttem 18 : (VM @ = 97t) (VM 1 = 1) (VM 2 = @%) (VM 3 = 07%) (VM 4 = 0%) o
* Ttem 19 : (VM @ = 87%) (VM 1 = 0%) (VM 2 = 1) (VM 3 = 77%) (WM 4 = 0%) ZICO
@ Task Repositories 5 F~=0o * Item 20 : (VM @ = @7%) (VM 1 = 37) (VM 2 = @%) (VM 3 = 67%) (VM 4 = 37%) ==
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BEEE— % 8 9 Purchasejava DVM java Item java
1]

result.put(2. message):

o
b

& Console ®

SystemTestStub [Java Application] C:#WProgram Filestavajdk1.8.0_281WbinWjavaw.exe (2021. 5. 1¢
* Ttem 7 @ (VM @ = @7F) (VM 1 = 57) (VM 2 = @7) (VM 3 = 87) (VM 4 = 07)

* Ttem 8 : (VM @ = @) (VM 1 = @7) (VM 2 = 77) (VM 3 = 4%) (VM 4 = o%)
* Ttem 9 : (VM @ = @) (VM 1 = %) (VM 2 = @) (VM 3 = 7%) (VM 4 = o%)
* Ttem 10 : (VM @ = 27F) (VM 1 = 47F) (VM 2 = 97) (VM 3 = @%) (VM 4 = 5%’
* Ttem 11 : (VM @ = 07F) (VM 1 = 17F) (VM 2 = 37) (VM 3 = @) (VM 4 = %'
* Ttem 12 : (VM @ = 07F) (VM 1 = 07F) (VM 2 = 07) (VM 3 = 13) (VM 4 = 0’
* Ttem 13 @ (VM © = @) (VM 1 = 07F) (VM 2 = 07%) (VM 3 = @7) (VM 4 = 17
* Ttem 14 : (VM © = 57) (VM 1 = 07) (VM 2 = 0%) (VM 3 = 07%) (VM 4 = o7
* Ttem 15 : (VM @ = 47F) (VM 1 = 97%F) (VM 2 = @7) (VM 3 = %) (VM 4 = o
* Ttem 16 : (VM @ = 07F) (VM 1 = 07F) (VM 2 = 77) (VM 3 = @) (VM 4 = 0%
O examlib * Ttem 17 : (VM @ = @%) (VM 1 = 07) (VM 2= 2} (UM 3 — Ga) (UM A = T3y
G| [&] Teststub ~ — 0 % * Item 18 : (VM @ = 97%)) (VM 1 = 17%) (VM | Message X P
> S * Ttem 19 : (VM © = 87) (VM 1 = 07F) (VM ot
_ - * Ttem 20 : (VM © = @) (VM 1 = 3%) (VM N 7
o femtz i (X) aceo=wzue
S scus [ we]
| g [ e = * Ttem 1 @ (VM @ = 8%) (VM 1 = @%) (VM 2 )
gy mE s moza | * Ttem 2 : (VM @ = 4%) (VM 1 - 87%) (VM 2 — @) (VM 3 = @7) (VM 4 = 07h)
| * Ttem 3 : (VM @ = @) (VM 1 = 0%) (VM 2 = @) (VM 3 = %) (VM 4 = 0%)
sl * Ttem 4 : (VM @ = 07) (VM 1 = @) (VM 2 = @) (VM 3 = 07) (VM 4 = 07)
o * Ttem 5 : (VM @ = 0%) (VM 1 = @) (VM 2 = @) (VM 3 = @7) (VM 4 = 27)
* Ttem 6 : (VM @ = 67) (VM 1 = @) (VM 2 = 275) (VM 3 = 77) (VM 4 = 07)
- * Ttem 7 : (VM @ = 07) (VM 1 = 57F) (VM 2 = @7) (VM 3 = @71) (VM 4 = @71)
= * Ttem 8 : (VM @ = @) (VM 1 = @74) (VM 2 = 73) (VM 3 = 47) (VM 4 = o%)
= * Ttem 9 : (VM @ = @) (VM 1 = %) (VM 2 = @) (VM 3 = 7%) (VM 4 = o%)
P - * Ttem 10 : (VM @ = 27F) (VM 1 = 47F) (VM 2 = 97) (VM 3 = @%) (VM 4 = 5%’
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result.put(2. message):

java Item,jay

a

SystemTestStub [Java Application] C:##Program FilestJavatjdk1.8.0_281#bintjavaw.exe (2021. 5. 1!

B Console =
* Ttem 11 : (VWM @
* Ttem 12 : (VM @
* Ttem 13 : (VM @
* Ttem 14 : (VM @
* Ttem 15 : (VM @
* Ttem 16 : (VM @
* Ttem 17 : (VM @
* Ttem 18 : (VM @
* Ttem 19 : (VM @
* Ttem 20 : (VM @

UI2 -» UIL [w]

[FHD sE]
* Ttem 1 : (VM @
* Ttem 2 @ (VM @
* Ttem 3 @ (VM @
* Ttem 4 : (VM ©
* Ttem 5 : (VM ©
* Ttem 6 : (VM ©
* Ttem 7 @ (VM @
* Ttem 8 : (VM @
* Ttem 9 @ (VM @ =
* Ttem 10 : (VM @
* Ttem 11 : (VM @
* Ttem 12 : (VM @
* Ttem 13 : (VWM @
* Ttem 14 : (VM @

= @%) (WM

87) (VM 1
871) (VM
87) (VM
574) (VM
475) (VM
a7) (VM
o) (VM
971) (VM
878) (VM
871) (VM

[ = = TN

o7) (WM
A7) (VM
o7%1) (VM
@71) (VM
87) (VM
678) (VM
B7) (VM
o) (VM

N )

278) (VM 1
e7) (VM 1
o) (VM 1
o) (VM 1
57) (VM 1

= 17) (VM 2 = 37%) (VM 3 = 0%) (VM 4 = @
07k) (VM 2 = 07) (VM 3 = 1) (VM 4 = @
07k) (VM 2 = 97) (VM 3 = %) (VM 4 = 1%
07k) (VM 2 = 97%) (VM 3 = @%) (VM 4 = a%
97k) (VM 2 = @7%) (VM 2 = @%) (VM 4 = 9%
07k) (VM 2 = 77) (VM 2 = 0%) (VM 4 = 8%
07F) (VM 2 = 871) (VM 3 = @%) (VM 4 = 77
17k) (VM 2 = @7) (VM 3 = @%) (VM 4 = 0%
07k) (VM 2 = 17t) (VM 3 = 7%) (VM 4 = 0%
37k) (VM 2 = 07) (VM 3 = 6%4) (VM 4 = 37
Message X
07) (VM 2 )
&7) (VM 2 ()  azym eres AL )
@7k) (VM 2 )
07) (VM 2 zro) )
07) (VM 2 EEl )
07F) (VM 2 = 27) (VM 3 = 774) (VM 4 = @7%)
57%) (VM 2 = @%) (VM 3 = @%) (VM 4 = @%)
074) (VM 2 = 77) (VM 3 = 4%) (VM 4 = &%)
= @7) (VM 2 = 0%) (VM 3 = 77) (VM 4 = @%)
A74) (VM 2 = 97%) (VM 3 = 8%) (VM 4 = 53%
178) (VM 2 = 35k) (VM 3 = @%) (VM 4 = @7
07k) (VM 2 = @7) (VM 3 = 17%) (VM 4 = 0%
07k) (VM 2 = @7) (VM 3 = @%) (VM 4 = 13
87E) (VM 2 = @71) (WM 3 = @7) (VM 4 = @
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44 result.pout(2. messaee):

B Console =

SystemTestStub [Java Application] C:#Program Files#ava#tjdk1.8.0_281¥bintjavaw.exe (2021. 5. 1!
* Ttem 14 : (VM @ = 57) (VM 1 = @7) (VM 2 = 07) (VM 3 = @7) (VM 4 = @7

* Ttem 15 : (VM @ = 47F) (VM 1 = 97F) (VM 2 = @%) (VM 3 = @%) (VM 4 = 9%

* Ttem 16 : (VM @ = @) (VM 1 = @%) (VM 2 = 77) (VM 3 = @%) (VM 4 = @%

* Ttem 17 @ (VM 8 = @) (VM 1 = 0%k) (VM 2 = 8%) (VM 3 = @%) (VM 4 = 7%

* Ttem 18 : (VM 8 = 97k) (VM 1 = 17k) (VM 2 = @%) (VM 3 = @%) (VM 4 = @%

* Ttem 19 : (VM @ = 87%) (VM 1 = @7) (VM 2 = 17%) (VM 3 = 77%) (VM 4 = @%

* Ttem 20 : (VM @ = @7%) (VM 1 = 37) (VM 2 = @7) (VM 3 = 67%) (VM 4 = 3%

U2 -» UI1 [E%
[#1=z]

* Ttem 1 : (VM @ = @%) (VM 1 = @%) (VM 2 = @%) (VM 3 = 3%) (VM 4 = 33%)

» 10 examlib * Ttem 2 : (VM @ = 47%) (WM 1 = 8%) (VM 2 = Am) (UM 2 — A7) (UM A — G3F)
s 8| (@] Teststub — O w * Ttem 3 : (VM ® = @) (VM 1 = 07%) (VM 2| Message )]
- o * Ttem 4 : (VM @ = 0%) (VM 1 = 0%) (VM 2 )
’ wme || mm * Ttem 5 : (VM @ = @) (VM 1 = 0%) (VM 2 e SI= )
o) EemEE * Ttem 6 : (VM @ = 67) (VM 1 = 07) (VM 2 ® H=E A=, )
> O 3Ews 23450 || M3 BE 2= * Ttem 7 : (VM @ = @%F) (VM 1 = 57%) (VM 2 )
> | = e = * Ttem 8 : (VM @ = @7%) (VM 1 = 0%) (VM 2 )
> & nemHID“ED * Ttem 9 : (VM @ = @%) (VM 1 = @%) (VM 2 = @%) (VM 3 = 774) (VM 4 = &%)
. @ * Ttem 10 @ (VM 8 = 27k) (VM 1 = 4%) (VM 2 = 9%) (VM 3 = @%) (VM 4 = 5%
e * Ttem 11 : (VM @ = @7k) (VM 1 = 17k) (VM 2 = 371) (VM 3 = @%) (VM 4 = @%
& * Ttem 12 : (VM @ = @7%) (VM 1 = @%) (VM 2 = @7) (VM 3 = 17%) (VM 4 = @%
i | * Ttem 13 : (VM @ = @7%) (VM 1 = @7) (VM 2 = @7F) (VM 3 = 87%) (VM 4 = 1%
> * Ttem 14 : (VM @ = 57k) (VM 1 = @7) (VM 2 = @7) (VM 3 = @%) (VM 4 = 0%
> o * Ttem 15 : (VM @ = 47F) (VM 1 = 97F) (VM 2 = @%) (VM 3 = @%) (VM 4 = 9%
=1 * Ttem 16 : (VM @ = @) (VM 1 = @%) (VM 2 = 77) (VM 3 = @%) (VM 4 = @%
. 13 stack * Ttem 17 @ (VM @ = @7k) (VM 1 = 0%k) (VM 2 = 8%) (VM 3 = 0%) (VM 4 = 7%
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result.put(2. messase):

B Console 2
SystemTestStub [Java Application] C:#Program Filestavaitjdk1.8.0_281#binWjavaw.exe (2021. 5. 1

* Ttem 17 @ (VM @ = @%) (VM 1 = @%) (VM 2 = 8%) (VM 3 = @) (VM 4 = 7%

* Ttem 18 : (VM @ = 9%) (VM 1 = 17%) (VM 2 = 8%) (VM 3 = 07%) (VM 4 = 0%

* Ttem 19 : (VM @ = 8%) (VM 1 = @%) (VM 2 = 17%F) (VM 3 = 77) (VM 4 = 0%

* Ttem 20 : (VM @ = @%) (VM 1 = 37%) (VM 2 = @%) (VM 3 = &%) (VM 4 = 3%
UI2 -> UI1 [=2]

(81 =2]

* Ttem 1 @ (VM @ = 87) (VM 1 = @7%) (VM 2 = @7F) (VM 3 = 37) (WM 4 = 3%)

* Ttem 2 = (VM @ = 478) (VM 1 = 87%F) (VM 2 = @871) (VM 3 = @7%) (VM 4 = @%)

* Ttem 3 = (VM @ = 87) (VM 1 = @7%) (VM 2 = @87F) (VM 3 = @7%) (VM 4 = &%)

* Ttem 4 : (VM @ = 07F) (VM 1 = 07F) (VM 2 = 075) (VM 3 = 071) (VM 4 = 07)

0 examlib * Ttem 5 : (VM @ = @) (VM 1 = 07) (VM 2, — @Z) (UM 2 — azm) (UM 4 — 23)
& g - . * Ttem 6 : (VM @ = 67) (VM 1 = 07) (VM 2| Message % B
y X Ttem 7 : (VM @ = %) (VM 1 = 5%) (VM 2 )
. = * Ttem 8 : (VM @ = @%) (VM 1 = 0%) (VM 2 - . )

o temmz 4 * Ttem 9 : (VM @ = @7%) (VM 1 = @%) (VM 2 ® SEPHLEELIC )
O Ac U 123456 | * Ttem 10 : (VM 0 = 275) (VM 1 = 47) (VM = 7
=1 = * Ttem 11 : (VM @ = 874) (VM 1 = 17) (VM 7
gyl M JD*JD * Ttem 12 : (VM © = @%) (VM 1 = 0%) (VM 2 = @) (VM 3 = 1) (VM 4 = &%
bt * Ttem 13 : (VM @ = @7t) (VM 1 = @7) (VM 2 = @7) (VM 3 = e7) (VM 4 = 1%
ol * Ttem 14 : (VM @ = 57) (VM 1 = @%) (VM 2 = 0%) (VM 3 = 0%) (VM 4 = 0%
o * Ttem 15 : (VM @ = 47F) (VM 1 = 973) (VM 2 = @7%) (VM 3 = @7%) (VM 4 = 9%
* Ttem 16 : (VM @ = @7F) (VM 1 = @%) (VM 2 = 77) (VM 3 = @7%) (VM 4 = 8%

- * Ttem 17 : (VM ® = %) (VM 1 = B7) (VM 2 = %) (VM 3 = @%) (VM 4 = 77
= * Ttem 18 : (VM © = 9%%) (VM 1 = 17) (VM 2 = 8%) (VM 3 = 0%) (VM 4 = o7
& * Ttem 10 : (VM © — 87) (VM 1 — @7) (VM 2 = 17) (VM 3 = 77) (VM 4 - o5
ey — * Ttem 20 : (VM @ = @7t) (VM 1 = 37) (VM 2 = @7) (VM 3 = 67) (VM 4 = 35
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F =0 D ava temjava va
Controller dvm = Controller.getInstance();
El Console &
SystemTestStub [Java Application] C:WProgram Fileswlavawjdk1.8.0_281wbin#javaw.exe (2021. 5. 19. 2= 10:19:1¢
* Ttem 9 : (VM @ = @7%) (VM 1 = 0%) (VM 2 = @7%) (VM 3 = 77) (VM 4 = O%) =72l 2g=
* Ttem 1@ : (VM @ = 27) (VM 1 = 47) (VM 2 = 9%4) (VM 3 = @%) (VM 4 = 5%) A=z0|
* Ttem 11 : (VM @ = @%) (VM 1 = 17) (VM 2 = 3%) (VM 3 = @%) (VM 4 = @%) orolAx
* Ttem 12 : (VM @ = @%) (VM 1 = @) (VM 2 = @%) (VM 3 = 170) (VM 4 = @%) aCi
* Ttem 13 : (VM @ = @%) (VM 1 = @) (VM 2 = @%) (VM 3 = @) (VM 4 = 17) zimy
* Ttem 14 : (VM @ = 5%) (VM 1 = @7) (VM 2 = @3) (VM 3 = @%) (VM 4 = @%) T.0.P
* Ttem 15 : (VM @ = 4%) (VM 1 = 975) (VM 2 = @7) (VM 3 = @7) (VM 4 = 97) H|E1500
* Ttem 16 : (VM @ = @7%) (VM 1 = @%) (VM 2 = 77%) (VM 3 = @7%) (VM 4 = 0%) Gixer
* Ttem 17 : (VM @ = @7) (VM 1 = @7) (VM 2 = 87) (VM 3 = @7%) (VM 4 = 77%) 2=
* Ttem 18 : (VM @ = 97) (VM 1 = 17) (VM 2 = @7) (VM 3 = @%) (VM 4 = @%) orEzy
. O examlib * Ttem 19 : (VM @ = 8%) (VM 1 = @%) (VM 2 = 1%) (VM 3 = 7%) (VM 4 = @%) ZICO
o @ B o » * Ttem 28 : (VM @ = @%) (VM 1 = 3%) (VM 2 = @%) (VM 3 = 6%) (VM 4 = 37%) ==
@ U4 -> UT1
o temws L[Jiilm. :E}SJIA
=) iEﬂig *Item 1 : (VM@ = @%) (VM 1 =0%) (VM2 =0%) (VM3 =37%) (VM 4 = 37%) =2
o) . . * Ttem 2 : (VM @ = 8%) (VM 1 = 8%) (VM 2 = @%) (VM 3 = @%) (VM 4 = @7) Awjcr
| nem 912 [19 | s2fs ] * Ttem 3 : (VM @ = @%) (VM 1 = 07%) (VM 2 = @%) (VM 3 = 07) (VM 4 = %) =&
. * Ttem 4 : (VM @ = @%) (VM 1 = 07%) (VM 2 = @%) (VM 3 = @%) (VM 4 = Q%) ~Z=0|=
&l * Ttem 5 : (VM @ = @%) (VM 1 = @7k) (VM 2 = Q%) (VM 3 = @%) (VM 4 = 24) =A
- * Ttem 6 : (VM @ = 67§) (VM 1 = 87F) (VM 2 = 27%) (VM 3 = 77) (VM 4 = O%) oi2E 5
- * Ttem 7 : (VM @ = @7%) (VM 1 = 57%) (VM 2 = @7%) (VM 3 = @7) (VM 4 = 07) =Yoo=
bt * Ttem 8 : (VM @ = @7%) (VM 1 = @7%) (VM 2 = 77k) (VM 3 = 4%) (VM 4 = Q%) 2==
o) * Ttem 9 : (VM @ = @7%) (VM 1 = @7) (VM 2 = @7%) (VM 3 = 77k) (VM 4 = 07%) =7te| 2=
=1 * Ttem 10 : (VM @ = 27) (VM 1 = 4%) (VM 2 = 97) (VM 3 = @%) (VM 4 = 57%) A=
™ Spr * Ttem 11 : (VM @ = @7) (VM 1 = 17) (VM 2 = 37) (VM 3 = @%) (VM 4 = @7) OpojA=
© test? * Ttem 12 : (VM @ = @%) (VM 1 = 0%) (VM 2 = @%) (VM 3 = 1) (VM 4 = @%) &=
& Ul Test * Ttem 13 : (VM @ = @%) (VM 1 = 0%) (VM 2 = @%) (VM 3 = 0%) (VM 4 = 1%) 2z
B Various Pi * Ttem 14 : (VM @ = 5%) (VM 1 = @%) (VM 2 = @%) (VM 3 = @%) (VM 4 = @%) T.0.P
o arous Fi * Ttem 15 : (VM @ = 47%4) (VM 1 = 970) (VM 2 = @%) (VM 3 = @7%) (VM 4 = 97) H|E{500
& > w [w main] * Ttem 16 : (VM @ = @%4) (VM 1 = @%) (VM 2 = 74) (VM 3 = 07%) (VM 4 = @7%) oixet
* Ttem 17 : (VM @ = @%) (VM 1 = @%) (VM 2 = 8%) (VM 3 = @%) (VM 4 = 77%) =9 &
* Ttem 18 : (VM @ = 97%) (VM 1 = 170) (VM 2 = @%) (VM 3 = @%) (VM 4 = @%) omma
* Ttem 19 : (VM @ = 127%) (VM 1 = 07%) (VM 2 = 1%) (VM 3 = 77) (VM 4 = @%) ZICO
@ ~=n * Ttem 2@ : (VM @ = @7%) (VM 1 = 3%) (VM 2 = @%) (VM 3 = 67%) (VM 4 = 37%) ==
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Controller dvm = Controller.getInstance();
AF -
sl | EI:I 2 Console =
SystemTestStub [Java Application] C:#Program Filestavaitjdk1.8.0_281#bintjavaw.exe (2021. 5. 1
* Ttem 10 : (VM @ = 27) (VM 1 = 475) (VM 2 = 970) (VM 3 = 07) (VM 4 = 57
* Ttem 11 : (VM @ = @7) (VM 1 = 17) (VM 2 = 37%1) (VM 3 = @%) (VM 4 = @7
* Ttem 12 : (VM @ = @71) (VM 1 = @7F) (VM 2 = @7%) (VM 3 = 17) (VM 4 = %
- = Ttem 13 : (VM @ = @) (VM 1 = 07) (VM 2 = @%) (VM 3 = 07) (VM 4 = 17
Fa || =A * Ttem 14 : (VM @ = 574) (VM 1 = 0%) (VM 2 = 0%) (VM 3 = 0%) (VM 4 = o7
* Ttem 15 : (VM @ = 474) (VM 1 = 97k) (VM 2 = 8%) (VM 3 = @7) (VM 4 = 9%
* Ttem 16 : (VM @ = @%) (VM 1 = 0%) (VM 2 = 77) (VM 3 = @%) (VM 4 = 0%
* Ttem 17 @ (VM @ = @7%) (VM 1 = @7%) (VM 2 = 87) (VM 3 = 0%) (VM 4 = 7%
* Ttem 18 : (VM @ = 9%) (VM 1 = 17%) (VM 2 = @%) (VM 3 = @%) (VM 4 = 0%
* Ttem 19 : (VM @ = 874) (VM 1 = 07) (VM 2 = 174) (VM 3 = 77) (VM 4 = 0%
0 examlib * Ttem 20 : (VM @ = @%) (VM 1 = 37) (VM 2= 0m) (UM 2 - AY (UM A - 33
- o UI4 -» UIl Message b4
; ] Tes - - UIl -»> UI4 ?
G xl— [ma=z] Z= 20| o 30T S o~ Ol
| femEE m * Ttem 1 : (VM @ = @7%) (VM 1 = @7%) (VM 2 ® (ERC BEREWE T RS )
Oiacas| | W * Ttem 2 : (VM @ = 87%) (VM 1 = 87) (VM 2 )
| nemtt s [1 | 4zfz || MoEml | * Ttem 3 : (VM © = 07) (VM 1 = 07) (VM 2 )
& | * Ttem 4 : (VM @ = ©7) (VM 1 = @) (VM 2 = @) (VM 3 = @) (VM 4 = @7)
. * Ttem 5 : (VM @ = ©70) (VM 1 = @7) (VM 2 = @7) (VM 3 = @%) (VM 4 = 27)
| *Ttem 6 : (VM@ = 67%) (VM 1 = 03) (VM 2 = 27%) (VM 3 = 73) (VM 4 = 0%)
- * Ttem 7 : (VM @ = @) (VM 1 = 5%) (VM 2 = @%) (VM 3 = 03) (VM 4 = 0%)
* Ttem 8 : (VM@ = @) (VM 1 = 07) (VM 2 = 778) (VM 3 = 4%)) (VM 4 = @)
o * Ttem 9 : (VM @ = @) (VM 1 = 07) (VM 2 = @) (VM 3 = 73) (VM 4 = om)
o % Ttem 10 : (VM @ = 27) (VM 1 = 47F) (VM 2 = 971) (VM 3 = 07) (VM 4 = 5%
=| = Ttem 11 : (VM @ = @) (VM 1 = 17) (VM 2 = 3%4) (VM 3 = 07) (VM 4 = 0%
® Stk = Ttem 12 : (VM @ = @) (VM 1 = 07) (VM 2 = @%) (VM 3 = 17) (VM 4 = 0%
£ Tao mn . Ameon mms Zme 4 am Jame o A fms A asea sme o4 ae
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Controller dvm = Controller.getInstance();

B Console 12
SystemTestStub [_lava Application] C:WProgram Filestlavaitjdk1.8.0_281#binWjavaw.exe (2021. 5.

* Ttem 13 @ (VM @ = %) (VM 1 = @%) (VM 2 = @%) (VM 3 = 8%) (VM 4 = 17
* Ttem 14 @ (VM @ = 57%) (VM 1 = @%) (VM 2 = @%) (VM 3 = 8%) (VM 4 = @7
* Ttem 15 : (VM @ = 47%) (VM 1 = 9%) (VM 2 = @%) (VM 3 = @%) (VM 4 = 97
* Ttem 16 : (VM @ = @7%) (VM 1 = @%) (VM 2 = 77%) (VM 3 = @7%) (VM 4 = @7
* Ttem 17 @ (VM @ = @7%) (VM 1 = @%) (VM 2 = 87%) (VM 3 = 07%) (VM 4 = 77
* Ttem 18 @ (VM @ = 97%) (VM 1 = 17%) (VM 2 = @%) (VM 3 = @%) (VM 4 = @7
* Ttem 19 @ (VM @ = 87%) (VM 1 = @7%) (VM 2 = 17%) (VM 3 = 77%) (VM 4 = @7
* Ttem 20 @ (VM @ = @7%) (VM 1 = 37%) (VM 2 = @%) (VM 3 = &%) (VM 4 = 37

UI4 -> UT1

UI1 -> UI4

(%2 sz
* Ttem 1 @ (VM @ = @) (VM 1 = @%) (VM 2| Message x
* Them 2 : (VM @ = 87) (VM 1 = 8%) (VM 2
* Ttem 3 : (VM @ = @7) (VM 1 = @) (VM 2 ® m ZroL L
* Ttem 4 : (VM @ = @71) (VM 1 = @7) (VM 2
* Ttem 5 : (VM @ = @7) (VM 1 = @7) (VM 2 ol
* Ttem 6 : (VM @ = 671) (VM 1 = @%) (VM 2 _
* Ttem 7 : (VM @ = @71) (VM 1 = 57) (VM 2 = @) (VM 3 = @7) (VM 4 = o7’
* Ttem 8 @ (VM @ = @7h) (VM 1 = @) (VM 2 = 77%) (VM 3 = 47%) (VM 4 = o3’
* Ttem O @ (VM @ = @7) (VM 1 = @) (VM 2 = @%) (VM 3 = 77) (VM 4 = 0%
* Ttem 10 : (VM @ = 27%k) (VM 1 = 4%) (VM 2 = 9%) (VM 3 = 8%) (VM 4 = 57
* Ttem 11 : (VM @ = @%) (VM 1 = 17%%) (VM 2 = 3%) (VM 3 = 8%) (VM 4 = @7
* Ttem 12 @ (VM @ = @%) (VM 1 = @%) (VM 2 = @%) (VM 3 = 17%) (VM 4 = @7
* Ttem 13 @ (VM @ = @%) (VM 1 = @%) (VM 2 = 8%) (VM 3 = 8%) (VM 4 = 17
* Ttem 14 : (VM @ = 57%) (VM 1 = @%) (VM 2 = @%) (VM 3 = @%) (VM 4 = @7
* Ttem 15 @ (VM @ = 4%) (VM 1 = 9%) (VM 2 = @7%) (VM 3 = @7%) (VM 4 = 97
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package ku.ooad.bl.core;

import java.awt.event.ActionEvent;
import java.awt.event.ActionListener;
import java.util.ArraylList;

import java.util.HashMap;

import java.util.Iterator;

import java.util.List;

import java.util.Set;

import javax.swing.JButton;
import javax.swing.JComboBox;
import javax.swing.JFrame;
import javax.swing.JLabel;
import javax.swing.JPanel;
import javax.swing.JTextField;

import ku.ooad.bl.vendingmachine.Controller;
import ku.ooad.bl.vendingmachine.Item;

import ku.ooad.bl.vendingmachine.STUB;

import ku.ooad.bl.vendingmachine.VerificationCode;

public class SystemTestStub {
public static void main(String[] args) {
Controller dvm = Controller.getInstance();
dvm.initialize();
TestFrame testFrame = new TestFrame();

static class TestFrame extends JFrame{
void stockLog() {
Controller dvm = Controller.getInstance();
System.out.println(" [T #&]");

List<Item> itemList = dvm.getItems();

for(int i=0; i<itemList.size(); i++) {
System.out.print(" * Item "+ (i+1) +" : ");
Item item = itemList.get(1i);
HashMap<Integer, Integer> count = item.count;
Set<Integer> keys = count.keySet();
Iterator<Integer> iter = keys.iterator();
while(iter.hasNext()) {
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Integer key = iter.next();
System.out.print("(VM "+ key + " = " +count.get(key)+"7H) ");
}
System.out.print(Item.names[i]);
System.out.printin();
}

void codeLog() {
// VM@Zt Z1 QU= codelist
System.out.println("[MZX ZE "),
System.out.print(" * vM 0 : ");
HashMap<Integer, ArrayList<Integer>> codelList = VerificationCode.getInstance().codelList;
Set<Integer> keys = codelList.keySet();
Iterator<Integer> iter = keys.iterator();
while(iter.hasNext()) {
Integer key = iter.next();
System.out.print("(Item "+ (key+1) +" = "+Item.names[key]+", code = "+codeList.get(key)+") ");
}
System.out.println();

// VM1 ~ vm4Zt 230 = codelist
Controller dvm = Controller.getInstance();
List<STUB> stubList = dvm.getStubs();
for(int i=0; i<stubList.size(); i++) {
System.out.print(" * VM "+ (i+1) +" @ "),
STUB stub = stubList.get(i);
VerificationCode codeManager = stub.getCodeManager();
HashMap<Integer, ArraylList<Integer>> STUBcodeList = codeManager.codelList;
Set<Integer> KEYS = STUBcodelList.keySet();
Iterator<Integer> keyIter = KEYS.iterator();
while(iter.hasNext()) {
Integer key = keyIter.next();
System.out.print("(Item "+ (key+1) +" = "+Item.names[key]+", code = "+STUBcodelList.get(key)+")

}
System.out.printin();

TestFrame() {
this.setTitle("TestStub");
this.setBounds(40,460,300,300);
this.setVisible(true);
this.setDefaultCloseOperation(JFrame.EXIT_ON_CLOSE);

JPanel panel = new JPanel();
this.add(panel);

JLabel labell = new JLabel("Item H3z");
panel.add(labell);

JTextField itemInputField = new JTextField("", 6);
panel.add(itemInputField);

JButton macroBtnl = new JButton("");
macroBtnl.setVisible(true);
macroBtnil.setText ("$Z FO4");
macroBtnl.addActionListener(new ActionListener(){
@override
public void actionPerformed(ActionEvent e) {
stockLog();

String inputTextl = itemInputField.getText();

Test Stub
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}
i

if(inputTextl.length()==0) return; // field7} %l Zto|H £& ot 3t
Controller dvm = Controller.getInstance();

JPanel initialPagePanel = (JPanel) dvm.curPanel;

JButton localPurchaseButton = (JButton) initialPagePanel.getComponent(0);
localPurchaseButton.doClick(); // UI1 -> UI2

System.out.println("UI1 -> UI2");

int itemNumber = Integer.parseInt(inputTextl);

JPanel localPurchasePanel = (JPanel) dvm.curPanel.getComponent(0);

JButton iteml = (JButton) localPurchasePanel.getComponent(itemNumber - 1);
iteml.doClick(); // Ui2 &7|

stockLog();

if (dvm.cur_stockOK == 0) { // UI2 -> UI5
System.out.println("UI2 -> UI5");

JPanel purchasePanel = (JPanel) dvm.curPanel.getComponent(3);
JButton purchaseButton = (JButton) purchasePanel.getComponent(1);
purchaseButton.doClick(); // UI5 -> UI1l

System.out.println("[#% Foi 24=2]");

stockLog();

System.out.println("UI5 -> UI1");

System.out.println("UI2 -> UI5");
} else if (dvm.cur_stockOK == 1) { // UI2 -> UI6
System.out.println("UI2 -> UI6");
JPanel advancePurchasePanel = (JPanel) dvm.curPanel.getComponent(1);
JButton advancePurchaseButton = (JButton) advancePurchasePanel.getComponent(0);
advancePurchaseButton.doClick(); // UI6 -> UI5
System.out.println("UI6 -> UI5");

JPanel purchasePanel = (JPanel) dvm.curPanel.getComponent(3);
JButton purchaseButton = (JButton) purchasePanel.getComponent(1);
purchaseButton.doClick(); // UI5 -> UI8
System.out.println("[MZH 2=2]");

stockLog();

System.out.println("UI5 -> UI8");

// ¥EH ZE log

JTextField codeField = (JTextField) ((JPanel) dvm.curPanel.getComponent(0)).getComponent(1);

System.out.println("[MZH ZE MMH] "+codeField.getText()); // &= MME IS
codeLog(); // ®M XHE7| ZE 55

JPanel codePanel = (JPanel) dvm.curPanel.getComponent(2);
JButton codeConfirmButton = (JButton) codePanel.getComponent(0);
codeConfirmButton.doClick(); // UI8 -> UI7
System.out.println("UI8 -> UI7");

JPanel locationPanel = (JPanel) dvm.curPanel.getComponent(2);
JButton locationButton = (JButton) locationPanel.getComponent(0);
locationButton.doClick(); // UI7 -> UI1
System.out.println("UI7 -> UI1");

3

else {
System.out.println("UI2 -> UI1 [EXH]");
stockLog();

panel.add(macroBtnl);
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JLabel label2 = new JLabel("ZE Hz");
panel.add(label2);

JTextField codeInput = new JTextField("", 6);
panel.add(codeInput);

JButton macroBtn2 = new JButton("");
macroBtn2.setVisible(true);
macroBtn2.setText ("MZN = YH");
macroBtn2.addActionListener(new ActionListener(){
@override
public void actionPerformed(ActionEvent e) {
String inputText = codelInput.getText();

Controller dvm = Controller.getInstance();

JPanel initialPagePanel = (JPanel) dvm.curPanel;

JButton codeInputButton = (JButton) initialPagePanel.getComponent(1);
codeInputButton.doClick(); // UI1 -> UI3

System.out.println("uI1 -> UI3");

// ZE UH

JPanel codeInputPanel = (JPanel) dvm.curPanel.getComponent(0);
JTextField codeInputField = (JTextField) codeInputPanel.getComponent(0);
codeInputField.setText(inputText);

/7 2ol HE 22|
JPanel codeConfirmPanel = (JPanel) dvm.curPanel.getComponent(2);
JButton confirmButton = (JButton) codeConfirmPanel.getComponent(1);
confirmButton.doClick();

if(inputText.equals("")
|| dvm.curCodeItem <= -1
|| dvm.curError) { // AIf A] UI19Z XI5 0|5 (E|AE MOIE 28l TiF)
// FA HE 2%
JButton cancelButton = (JButton) codeConfirmPanel.getComponent(0);
cancelButton.doClick();
}
if(inputText.equals("")) System.out.println("[O/&=]");
else if(dvm.curCodeItem <= -1) System.out.println("[ZEMsIX| %= IE]");
else if(dvm.curError) System.out.println("[xXt7} Otl EXt =H]1");
else {
stockLog();
codelLog();
}
System.out.println("UI3 -> UI1");
}
1)
panel.add(macroBtn2);

JLabel label3 = new JLabel("Item H3z");
panel.add(label3);

JTextField sortInput = new JTextField("", 2);
panel.add(sortInput);

JLabel label4 = new JLabel("#Z");
panel.add(label4);

JTextField countInput = new JTextField("", 2);
panel.add(countInput);
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JButton macroBtn3 = new JButton("");
macroBtn3.setVisible(true);
macroBtn3.setText ("X Z2|");
macroBtn3.addActionListener(new ActionListener(){
@override
public void actionPerformed(ActionEvent e) {
String inputTextl = sortInput.getText();
String inputText2 = countInput.getText();
if(inputTextl.length()==0 || inputText2.length()==0) return; // field7} gl Zt0|H =

Controller dvm = Controller.getInstance();

JPanel initialPagePanel = (JPanel) dvm.curPanel;

JButton stockManagementButton = (JButton) initialPagePanel.getComponent(2);
stockManagementButton.doClick(); // UI1 -> UI4

System.out.println("UI1 -> UI4");

/7 BF, T 4™

JPanel sortPanel = (JPanel) dvm.curPanel.getComponent(0);
JComboBox sortCombobox = (JComboBox) sortPanel.getComponent(1);
sortCombobox.setSelectedIndex(Integer.valueOf(inputTextl)-1);
JPanel countPanel = (JPanel) dvm.curPanel.getComponent(1);
JTextField countField = (JTextField) countPanel.getComponent(1);
countField.setText(inputText2);

// el HE 22|

JPanel confirmPanel = (JPanel) dvm.curPanel.getComponent(2);
JButton confirmButton = (JButton) confirmPanel.getComponent(1);
confirmButton.doClick();

if(dvm.curCount < 0 || dvm.curCnt > 7) { // &Il A] UI19Z XI5 0|5 (HAE MoIE sl
// F&x HE 28
JButton cancelButton = (JButton) confirmPanel.getComponent(0Q);
cancelButton.doClick()
}
if(dvm.curCount < @) System.out.println("[#% S%]1");
else if(dvm.curCnt > 7) System.out.println("[ZF x=2H");
else stockLog();
System.out.println("UI4 -> UI1");
}
1)
panel.add(macroBtn3);

panel.setVisible(true);
panel.revalidate();

CHEZXCQI AlLI2| S0 Ci$t log
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*Item 4 : (VM 0 = 07H) (VM 1= 07H) (VM 2 = 07H) (VM 3 = O7H) (VM 4 = 07) AZZ20|E
*ltem 5: (VM 0 = 07) (VM 1= 07H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 27H) HIA|
*ltem 6 : (VM 0 = 67H) (VM 1 = 07H) (VM 2 = 27H) (VM 3 = 771) (VM 4 = 07li) OIREl &
*tem 7 : (VM O = 071) (VM 1 = 57H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 07H) ¢l oflo| =
*ltem 8 : (VM 0 = 071) (VM 1 = 07H) (VM 2 = 77H) (VM 3 = 47l) (VM 4 = 07) 22

P
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*1ltem 9: (VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07l) (VM 3 = 77l) (VM 4 = O7H) 72| A4
E

* Jtem 10 : (VM 0 = 274
*ltem 11: (VM 0 = O7H
*[tem 12 : (VM 0 = 07H) (VM 1 = 07l) (VM 2 = 07H) (VM 3 = 17{) (VM 4 = 07H) ATtz
*[tem 13 : (VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 17H) 2| AAH|
*ltem 14 : (VM 0 = 57H) (VM 1 = 07) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 07H) T.O.P
)
)

(VM1 = 47) (VM 2 = 97) (VM 3 = 07H) (VM 4 = 57H) A E2{0]

)
) (VM 1 =17) (VM 2 = 37) (VM 3 = 07H) (VM 4 = O7H) OtO|A|A

*Item 15 : (VM 0 = 47H) (VM 1 = 97H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 97H) H|E}500
* |tem 16 : (VM 0 = 07H) (VM 1 = 07) (VM 2 = 77H) (VM 3 = 07H) (VM 4 = 07H) ClIXt<t
*ltem 17 : (VM 0 = 07) (VM 1 = 07H) (VM 2 = 87H) (VM 3 = 07H) (VM 4 = 77H) £9| &
* Item 18 : (VM 0 = 97H) (VM 1 = 17) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = O7H) Op&!IsH &t
*ltem 19 : (VM 0 = 87) (VM 1 = 07H) (VM 2 = 17) (VM 3 = 77) (VM 4 = 07H) ZICO
* ltem 20 : (VM 0 = 07H) (VM 1 = 37H) (VM 2 = 07H) (VM 3 = 67l) (VM 4 = 37f) W=

ul2 » Ul

ulé - UI5

[MZAX 2]

[ $g
*ltem 1: (VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 37H) (VM 4 = 37) 22}
*jtem 2: (VMO0 = 471) (VM 1 = 87H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 07H) Ato|Ct
*ltem 3: (VM 0 = 07H) (VM 1 = 07) (VM 2 = 07) (VM 3 = 07H) (VM 4 = O7H) EtE}

( (

( (

—

*Item 4 : (VM 0 = 07H) (VM 1 = O7H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 07H) AZa}0|E
*ltem 5: (VM 0 = 07) (VM 1 = 07H) (VM 2 = O7H) (VM 3 = O7H) (VM 4 = 27H) BIA|
*Item 6 : (VM 0 = 67) (VM 1 = 07H) (VM 2 = 27H) (VM 3 = 77H) (VM 4 = 07l)) O}2El &
*Item 7 : (VM 0 = 07H) (VM 1 = 57H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 07H) I}¢f oflo] =
*Item 8 : (VM 0 = 07)) (VM 1 = 07H) (VM 2 = 77H) (VM 3 = 471)) (VM 4 = 07}) 222

) )

*1tem 9 : (VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 771) (VM 4 = 07l) ZE7Ft2| A%

E

*ltem 10 : (VM 0 = 27H) (VM 1 = 47) (VM 2 = 97) (VM 3 = 07H) (VM 4 = 57H) A E2{|0]
*Item 11: (VM 0 = 07H) (VM 1 = 17H) (VM 2 = 37H) (VM 3 = 07H) (VM 4 = O7H) OO A|A
*ltem 12 : (VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 17H) (VM 4 = 07H) AfCtz=
*ltem 13 : (VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 17) 2f|AH]|

* ltem 14 : (VM 0 = 57H) (VM 1 = 071) (VM 2 = 07) (VM 3 = 07H) (VM 4 = 07H) T.O.P
*Item 15 : (VM 0 = 47H) ( )

* |tem 16 : (VM 0 = 07H) (VM 1 = 07H) (VM 2 = 77H)
( )

(

(VM 1 = 97H) (VM 2 = O7H

(
*Item 17 : (VM 0 = 07H) (VM 1 = O7H) (VM 2 = 871

(

(

(
(VM 3 = 07H) (VM 4 = 97H) H|E}500
(VM 3 = 07l) (VM 4 = 07H) HIXtet
(VM 3 = 07H) (VM 4 = 77l) &9| &=
*ltem 18 : (VM 0 = 97H) (VM 1 = 17H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = O7H) O&leH &
*|tem 19 : (VM 0 = 87H) (VM 1 = 07H) (VM 2 = 17H) (VM 3 = 771) (VM 4 = 07l) ZICO
* Item 20 : (VM 0 = 07) (VM 1 = 37H) (VM 2 = 07H) (VM 3 = 67H) (VM 4 = 371) =
uls »> U8
[MZF = M) 745711
[MZX 2E 81z

*VM O : (Item 1 = Z2}, code = [123456, 123457, 123458])
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*VM1:
*VM 2 :
*VM 3 :
*VM 4 :
uig » Uiz
ul7 > un
(Mo 8
*ltem1: (VM O = 07H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 374
*ltem 2: (VM0 = 47) (VM 1= 87H) (VM 2 = 07H) (VM 3 = O7H
*ltem 3: (VM 0 = 07H) (VM 1 = 07) (VM 2 = 07) (VM 3 = 07H) (VM 4 = O7H) EtE}
*Item 4 : (VM 0 = 07H) (VM 1= 07H) (VM 2 = 07H) (VM 3 = O7H) (VM 4 = 07) AZ20|E
*ltem 5: (VM 0 = 07) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = O7H) (VM 4 = 27H) HIA|
*ltem 6 : (VM 0 = 67H) (VM 1 = 07H) (VM 2 = 27H) (VM 3 = 771) (VM 4 = 07li) OIREl &
*Item 7 : (VM O = 071) (VM 1 = 57H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 07H) I+l oflo| =
) )
) )

~

(VM 4 = 37l) 22t
(VM 4 = 07H) Ato|C}

*Item 8 : (VM 0 = 07H) (VM 1 = 07H) (VM 2 = 77) (VM 3 = 47l) (VM 4 = O7H}) 2=
*Item 9: (VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 77H) (VM 4 = O7H) ZEF}2| ALl

E

*Item 10 : (VM 0 = 27l) (VM 1 = 474) (VM 2 = 97) (VM 3 = 07H) (VM 4 = 57H) A E2||0]
*Item 11: (VM 0 = 07H) (VM 1 = 17) (VM 2 = 37H) (VM 3 = 07H) (VM 4 = 07H) OFO|A|A
*Item 12 : (VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 17l) (VM 4 = 07l) MCt
* ltem 13 : (VM 0 = 07) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 17H) 2| A H|
*ltem 14 : (VM 0 = 57H) (VM 1 = 07) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 07H) T.O.P
*ltem 15 : (VM 0 = 47H)
)
)
)

)
)

( (

(VM 1= 97) (VM 2 = 07) (VM 3 = 07H) (VM 4 = 97l{) H|E}500
* ltem 16 : (VM 0 = 07H) (VM 1 = 071) (VM 2 = 77l) (VM 3 = 07H) (VM 4 = 07H) HlIXt<t
*ltem 17 : (VM 0 = 07) (VM 1 = 07H) (VM 2 = 87l) (VM 3 = 07H) (VM 4 = 77l) &£9| &
* ltem 18 : (VM 0 = 97H) (VM 1 = 17H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = O7H) Of&leH &
*|tem 19 : (VM 0 = 87H) (VM 1 = 07H) (VM 2 = 17H) (VM 3 = 771) (VM 4 = 07li) ZICO
* Jtem 20 : (VM 0 = 07H) (VM 1 = 37H) (VM 2 = 07H) (VM 3 = 67H) (VM 4 = 37{) H=
uin > Ul2
(R0 3%
*ltem 1: (VMO = 07H) (VM 1= 07) (VM 2 = 07) (VM 3 = 37ll) (VM 4 = 37H) =zt
*ltem 2 : (VM 0 = 471) (VM 1 = 87H) (VM 2 = 07H) (VM 3 = 07) (VM 4 = 07H) Ato|Ct
*ltem 3: (VM 0 = 07H) (VM 1 = 07) (VM 2 = 07) (VM 3 = 07H) (VM 4 = O7H) EHE}
*ltem 4 : (VM 0 = 07H) (VM 1 = 07) (VM 2 = 07) (VM 3 = 07H) (VM 4 = O7l}) AZZE}0|E
*ltem 5: (VM 0 = 07) (VM 1= 07H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 27H) HIA|
*ltem 6 : (VM 0 = 671) (VM 1= 07H) (VM 2 = 27H) (VM 3 = 77H) (VM 4 = O7Hj) OIREl &
*ltem 7 : (VM 0 = 07H) (VM 1 = 571) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = O7H) ¢ of|o| =
*ltem 8: (VM 0 = 071) (VM 1= 07H) (VM 2 = 77H) (VM 3 = 47l) (VM 4 = 07) 2Z &

*ltem 9: (VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07l) (VM 3 = 77l) (VM 4 = O7H) ZF}2| A
E

*Item 10 : (VM 0 = 27) (VM 1 = 47f) (VM 2 = 97f) (VM 3 = 07li) (VM 4 = 571) A|Ez2{|0|
*Item 11: (VM 0 = 07H) (VM 1 = 17) (VM 2 = 37H) (VM 3 = 07li) (VM 4 = O7H) OIO[A|A
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Test Stub

*ltem 12 :
*ltem 13 :
*ltem 14 :

VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 17H) (VM 4 = O7H) AtCt%
VM 0 = 07) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 17H) 2| AH|
VM 0 = 57H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 07) T.O.P
*ltem 15 : (VM 0 = 471) (VM 1 = 97H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 97li) H|Et500
* ltem 16 : (VM 0 = 07H) (VM 1 = 071) (VM 2 = 77l) (VM 3 = 07H) (VM 4 = 07H) ClIXt<t
*ltem 17 : (VM 0 = 07) (VM 1 = 07H) (VM 2 = 87l) (VM 3 = 07H) (VM 4 = 77l) &9| &
* ltem 18 : (VM 0 = 97H) (VM 1 = 17H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = O7H) O&leH &
* |tem 19 : (VM 0 = 87H) (VM 1 = 07H) (VM 2 = 17H) (VM 3 = 771) (VM 4 = 07li) ZICO
* |tem 20 : (VM 0 = 07H) (VM 1 = 37H) (VM 2 = O7H) (VM 3 = 67H) (VM 4 = 37{) =
ul2 > Ule
ule » UI5
[MAX 2E]
[0 ¥
*ltem 1: (VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 37l) (VM 4 = 37) 2&}
*ltem 2 : (VM 0 = 47) (VM 1 = 87H) (VM 2 = 07H) (VM 3 = 07) (VM 4 = 07H) Ato|Ct
*ltem 3 : (VM 0 = 07H) (VM 1 = 07) (VM 2 = 07) (VM 3 = 07H) (VM 4 = O7H) EHE}
*ltem 4 : (VM 0 = 07H) (VM 1 = 07) (VM 2 = 07) (VM 3 = 07H) (VM 4 = O7l) AZ2}0|E
*ltem 5: (VM 0 = 07) (VM 1= 07H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 27H) HIA|
*ltem 6 : (VM 0 = 671) (VM 1= 07H) (VM 2 = 27H) (VM 3 = 77H) (VM 4 = O7Hj) OIREl &
*ltem 7 : (VM 0 = 07H) (VM 1 = 57) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = O7H) g oflo| =
)
)

—_~ o~ o~ o~

*Item 8 : (VM 0 = 07H) (VM 1 = 07) (VM 2 = 77l) (VM 3 = 47lf) (VM 4 = O7H}) 2E=2
*Item 9: (VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07l) (VM 3 = 77H) (VM 4 = O7H) ZF}2| A

E

*Item 10 : (VM 0 = 274
*Item 11: (VM 0 = O7H
*Item 12 : (VM 0 = 07H) (VM 1 = 07H) (VM 2 = O7H) (VM 3 = 171}) (VM 4 = 07H) &fTt=
*Item 13 : (VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07) (VM 3 = O7H) (VM 4 = 17H) 2| M H|
*Item 14 : (VM 0 = 57) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 07H) T.O.P
) )
) )
)

(VM 1 = 47f) (VM 2 = 97f) (VM 3 = 07l) (VM 4 = 57l) A Ez2{|0|

)
) (VM1 =17H) (VM 2 = 374) (VM 3 = 07l) (VM 4 = O7H) OFO[A|A

*Item 15 : (VM 0 = 47H) (VM 1 = 97H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 97H) H|E}500
* ltem 16 : (VM 0 = 07H) (VM 1 = 071) (VM 2 = 77H) (VM 3 = 07H) (VM 4 = 07H) ClIXt<t
*ltem 17 : (VM 0 = 07H) (VM 1 = 07H) (VM 2 = 87H) (VM 3 = 07H) (VM 4 = 77l) £9| &
* |tem 18 : (VM 0 = 97H) (VM 1 = 17H) (VM 2 = 07H) (VM 3 = 07) (VM 4 = O7H) Op&lsH At
* |tem 19 : (VM 0 = 87H) (VM 1 = 07H) (VM 2 = 17H) (VM 3 = 771) (VM 4 = 07l) ZICO
* Jltem 20 : (VM 0 = 07H) (VM 1 = 37H) (VM 2 = 07H) (VM 3 = 67l) (VM 4 = 37{f) W=
ul5 - UI8

[MZR 2= MAM] 74156

[MAX ZE ¥g

*VM O : (Item 1 = 22}, code = [123456, 123457, 123458])

*VM1:

*VM 2 :

*VM 3:

*VM 4 :
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Test Stub

uig » uUI7
ul7 - un
[0 e

*Item1: (VMO0 = 07) (VM 1= 07H) (VM 2 = 07H) (VM 3 = 37H) (VM 4 = 37l) 22t
(VM 0 = 47H) (VM 1 = 87) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = O7H) AtO|LCt
)

* |ltem 2 :
*|tem 3 :
*|tem 4 :
*ltem 5 :
*|ltem 6 :
*ltem 7 :
* |tem 8 :

*Item 9 :
E

*Item 10

* Item 11 :
*ltem 12 :

*ltem 13

*ltem 14 :
*ltem 15 :

(VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07) (VM 3 = O7H

(VM 4 = 07Hj) StE}

(VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = O7H) (VM 4 = 07) AZ2I0|E
(VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 27H) BIA|

(VM 0 =67H) (VM 1= 071) (VM 2 = 27) (VM 3 = 77H) (VM 4 = 07}) OIREl &
(VM 0 = 07H) (VM 1 = 57H) (VM 2 = 07H) (VM 3 = 07) (VM 4 = 07H) I}t¢ 00| =
(VM 0 = 07H) (VM 1= 07H) (VM 2 = 77) (VM 3 = 47l) (VM 4 = O7l}) 222

(VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 77) (VM 4 = 07H) Z7I2| A%

: (VMO0 =274
(VM O = O7H
(VM O = 07H) (VM 1= 07) (VM 2 = 07H) (VM 3 = 17H) (VM 4 = O7H) ATt

: (VM0 =07) (VM 1=07H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 17H) &|MH|

)
)

* |tem 16 :
* ltem 17 :
* |ltem 18 :
* |ltem 19 :

* Item 20
Uil > UlI2
[XH1 sig

(VM0 = 47H) (VM 1 = 97}
(VM 0 = 07H) (VM 1 = O7H
(VM 0 = 07H) (VM 1 = O7H
(VM 0 = 97H) (VM 1 = 17H)
(VM 0 = 87) (VM 1 = 07H) (VM 2 = 17H)

(VM 1 = 47f) (VM 2 = 97f) (VM 3 = 07l) (VM 4 = 57l) A Ez2{|0|

)
) (VM1 =17H) (VM 2 = 37) (VM 3 = 07H) (VM 4 = 07Hj) O}O[A|A

VM 2 = 07H) (VM 3 = 07{) (VM 4 = 97H) H|Et500
VM 2 = 77H) (VM 3 = 07H) (VM 4 = 07H) Gi| X+t
VM 2 = 87l) (VM 3 = 07H) (VM 4 = 77l) &2l &
VM 2 = 07l) (VM 3 = 07H) (VM 4 = O7H) Ot&lgH &
(VM 3 = 77f) (VM 4 = 07H) ZICO

) )
) )
(VM 0 = 57l) (VM 1 = 07H) (VM 2 = 07H)) (VM 3 = 07H) (VM 4 = 07H) T.O.P
) )
) )
)

—_ o~~~

—

: (VM0 = 07H) (VM1 = 37H) (VM 2 = 07l) (VM 3 = 67H) (VM 4 = 37) =

*Item 1: (VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 37l) (VM 4 = 37l}) =&t

* |ltem 2 :
*|tem 3 :
*|tem 4 :
*ltem 5 :
*|ltem 6 :
*|tem 7 :
* |ltem 8 :

*Item 9 :
E

* ltem 10
* ltem 11
* ltem 12
* ltem 13
* ltem 14
* ltem 15

(
(

VM 0 = 47l) (VM 1 = 87l) (VM 2 = 07H) (VM 3 = O7H
VM 0 = 07H) (VM 1 = O7H)
(VM 0 = 07l) (VM 1 = 07H)

) (VM 4 = 07H) ALO|C}
VM 3 = 07H) (VM 4 = 07H) EtE}
VM 3 = 07l) (VM 4 = 07) AZZ}0|E

( (
(VM 2 = 07H) (
(VM 2 = 07H) (
( (

(VM O = 07H) (VM 1=07H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 27H) HIA|

(VM 0 = 07H) (VM 1 = 57H) (VM 2 = O7{
(VM0 = 07H) (VM 1=071) (VM 2 =774
(VM 0 = 07H) (VM 1 = 07H) (VM 2 = O7H

(
(
(VM0 = 671) (VM1 =07H) (VM 2 = 274
(
(

: (VMO0 =274
: (VMO = 07
: (VMO = 07H
: (VMO = 074
: (VMO0 =574
: (VMO = 474

(VM 3 =771) (VM 4 = 07) OI2E &
(VM 3 = 07H) (VM 4 = 07H) It¢] ofjo| =
(VM 3 = 471) (VM 4 = 07H) 222

(VM 3 = 77H) (VM 4 = 07H) Z7t2| 24|

—_— ~—~ ~ —

(VM 1 = 47) (VM 2 = 97) (VM 3 = 07H) (VM 4 = 57H) A E2{|0]
(VM1 = 17H) (VM 2 = 37H) (VM 3 = 07) (VM 4 = 07H) OtO|A|A
(VM1 =07) (VM 2 = 07H) (VM 3 = 17) (VM 4 = 07H) ATt
(VM 1= 07) (VM 2 = 07) (VM 3 = 07H) (VM 4 = 17f) 2|2 H]
) )
)

-

(VM1 =07) (VM 2 = 07{) (VM 3 = 07H) (VM 4 = 07Hi) T.O.P
(VM1 =97l) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 97l{) H|E}500

~— ~— ~— ~—
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Test Stub

* |tem 16 : (VM 0 = 07H) (VM 1 = 07H) (VM 2 = 77H)
*ltem 17 : (VM 0 = 07) (VM 1 = 07H) (VM 2 = 87H) (VM 3 = 07H) (VM 4 = 77l) £9| &
*ltem 18 : (VM 0 = 97H) (VM 1 = 17H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = O7H) Op&IeH &
* |tem 19 : (VM 0 = 87H) (VM 1 = 07H) (VM 2 = 17H) (VM 3 = 771) (VM 4 = 07H) ZICO
* |tem 20 : (VM 0 = 07) (VM 1 = 37H) (VM 2 = 07H) (VM 3 = 67H) (VM 4 = 37H) W=
ui2 > un 2=
(M2 8
*ltem1: (VM O = 07H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 374
*ltem 2: (VM 0 = 47) (VM 1= 87H) (VM 2 = 07H) (VM 3 = O7H
*ltem 3: (VM 0 = 07H) (VM 1 = 07) (VM 2 = 07) (VM 3 = 07H) (VM 4 = O7H) EtE}
*Item 4 : (VM 0 = 07H) (VM 1= 07H) (VM 2 = 07H) (VM 3 = O7H) (VM 4 = 07) AZZ20|E
*ltem 5: (VM 0 = 07) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = O7H) (VM 4 = 27H) HIA|
*ltem 6 : (VM 0 = 67H) (VM 1 = 07H) (VM 2 = 27H) (VM 3 = 771) (VM 4 = 07li) OIREl =
*tem 7 : (VM O = 07H) (VM 1 = 57H) (VM 2 = 07H) (VM 3 = 07) (VM 4 = O7H) I+l oflo| =
*ltem 8 : (VM 0 = 071) (VM 1= 07H) (VM 2 = 77H) (VM 3 = 47l) (VM 4 = 07) 22
*tem 9: (VM 0 = 071) (VM 1 = 07H) (VM 2 = O7H) (VM 3 = 77H) (VM 4 = O7H) Z=Ft2| A%

VM 3 = 07H]) (VM 4 = 07H) Hi| Xt

—_

P

~

(VM 4 = 37l) 22t
(VM 4 = 07H) Ato|C}

E

*Item 10 : (VM 0 = 27l) (VM 1 = 47H) (VM 2 = 97) (VM 3 = 07H) (VM 4 = 57H) A E2]|0]
*Item 11: (VM 0 = 07H) (VM 1 = 17) (VM 2 = 37H) (VM 3 = 07H) (VM 4 = 07H) OFO|A|A
*Item 12 : (VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 17l) (VM 4 = 07l) MCt
*ltem 13 : (VM 0 = 07) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 17H) 2| A H|
*ltem 14 : (VM 0 = 57H) (VM 1 = 07) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 07H) T.O.P
*ltem 15 : (VM 0 = 47H)
)
)
)

)
)

( (
(VM1 =97) (VM 2 = 07H) (VM 3 = 07) (VM 4 = 97l{) H|Et500

*ltem 16 : (VM 0 = 071) (VM 1 = O7H) (VM 2 = 77H) (VM 3 = 07H) (VM 4 = 07H) G| Xtet
*ltem 17 : (VM 0 = 07H) (VM 1 = 07H) (VM 2 = 87H) (VM 3 = O7l) (VM 4 = 77l) £9| &=
*ltem 18 : (VM 0 = 97) (VM 1 = 171) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = O7H) Op&ls At
*ltem 19 : (VM 0 = 87) (VM 1 = 07H) (VM 2 = 171) (VM 3 = 77) (VM 4 = 07H) ZICO
* ltem 20 : (VM 0 = 07H) (VM 1 = 37H) (VM 2 = 07H) (VM 3 = 67l) (VM 4 = 37f) 4=

Ul - U3

[O]&]

uI3 > Ul

un - UI3

[=Xt7t otl 22Xt =]

ul3 » un

un - uI3

[EXHSHX]| &= ZE]

uI3 - Ul

Ul - uUI3

[ZH 3Eh
*Item 1: (VM 0 = 07) (VM 1= 07H) (VM 2 = O7H) (VM 3 = 37H) (VM 4 = 37H) ==t
*ltem 2 : (VM 0 = 47H) (VM 1 = 87H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 07H) Ato|Ct
*ltem 3: (VM 0 = 07) (VM 1 = 07H) (VM 2 = O7H) (VM 3 = 07) (VM 4 = 07H) EtEt
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Test Stub

*|tem 4 :
*ltem 5 :
* |ltem 6 :
*|tem 7 :
* |ltem 8 :

*Item 9 :
E

* Item 10
* ltem 11

*ltem 12 :
*ltem 13 :
*ltem 14 :
* ltem 15 :

* |tem 16

*ltem 17 :
*ltem 18 :

* ltem 19
* ltem 20

(VM 0 = 07H) (VM 1 = 07) (VM 2 = 07) (VM 3 = 07H) (VM 4 = O7H) AZ2}0|E
(VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 27H) HIA|

(VM 0 = 67H) (VM 1= 07) (VM 2 = 27) (VM 3 = 77H) (VM 4 = 07) OIREl &
(VM 0 = 07l) (VM 1 = 57) (VM 2 = 07) (VM 3 = 07H) (VM 4 = 07Hi) T}¢| of|0| =
(VM 0 = 07H) (VM 1 = 07H) (VM 2 = 77) (VM 3 = 47H) (VM 4 = O7H) 22
(VM 0 = 07H) (VM 1=07H) (VM 2 = 07H) (VM 3 = 771) (VM 4 = O7H) EFt2| A

(VM0 = 27H) (VM 1 = 47H) (VM 2 = 97l) (VM 3 = 07H) (VM 4 = 57H) AIE|0]
: (VM0 =07H) (VM1 =171) (VM 2 = 37H) (VM 3 = 07li) (VM 4 = 07H) OFOJA|A
VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 17H) (VM 4 = O7H) AtCt%
VM 0 = 07) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 17H) | MH|
VM 0 = 57H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = O7H) (VM 4 = 07) T.O.P
VM 0 = 47H) (VM 1 = 97li) (VM 2 = 07l) (VM 3 = 07H) (VM 4 = 97f) H|E}500
: (VM 0 = 07) (VM 1 = 07H) (VM 2 = 77H) (VM 3 = 07H) (VM 4 = 07H) Gi|Xt<t
(VM 0 = 07H) (VM 1 = 07H) (VM 2 = 87H) (VM 3 = 07l) (VM 4 = 77ll) &9 =
(VM 0 = 97l) (VM 1 =171) (VM 2 = 07{) (VM 3 = O7H) (VM 4 = O7H) Ot &gt &
: (VM0 =87H) (VM 1=07H) (VM 2 =171) (VM 3 = 77) (VM 4 = 07) ZICO
: (VM0 =07H) (VM1 =37H) (VM 2 = 07l) (VM 3 = 67H) (VM 4 = 371) H=

(
:
(
(

—_— o~ o~ o~

[MZN ZE oiE]

*VM O : (Item 1 = 22}, code = [123457, 123458])

*VM1:
*VM 2 :
*VM 3:
*VM 4
Ul3 »> un
uin > ul4
(R0 $4%]
*|tem 1:
* ltem 2 :
*|tem 3 :
*|tem 4 :
*|tem 5 :
*|ltem 6 :
*ltem 7 :
*|ltem 8 :

*Item 9 :
E

* [tem 10
* ltem 11
* ltem 12
* ltem 13
* |ltem 14

(VM 0 = 07H) (VM 1= 07) (VM 2 = 071) (VM 3 = 37l) (VM 4 = 37) =&}

(VM 0 = 87H) (VM 1 = 87H) (VM 2 = 07) (VM 3 = 07H) (VM 4 = 07H) Ato|C}
(VM 0 = 07H) (VM1 = 07H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = O7H) ZtE}

(VM 0 = 07H) (VM 1 = 07) (VM 2 = 07) (VM 3 = 07H) (VM 4 = 07lj) AZ2}0|E
(VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 27H) HIA|
(VM0 = 67H) (VM 1=071) (VM 2 = 27) (VM 3 = 77H) (VM 4 = 07) OIREl &
(VM 0 = 074) (VM1 =57H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = O7H) It ofjo|=
(VMO0 = 07H) (VM 1=07) (VM 2 =77) (VM 3 = 47) (VM 4 = 07li) 2E &2
(VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 771) (VM 4 = 07H) EFI2| A<

: (VM0 = 27H) (VM 1 = 47H) (VM 2 = 97H) (VM 3 = 07H) (VM 4 = 57H) A E|0|
: (VM 0 = 07H) (VM1 =171) (VM 2 = 37H) (VM 3 = O7H) (VM 4 = 07H) OFO|A|A
: (VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 17H) (VM 4 = O7H) AT
: (VM 0 = 07) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 17H) 2f|AAH]
: (VM0 = 57H) (VM 1 =07H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 07) T.O.P
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Test Stub

*ltem 15 : (VM 0 = 47H) (VM 1 = 97H)
*ltem 16 : (VM 0 = 07H) (VM 1 = O7H)

VM 2 = 07H) (VM 3 = 07{) (VM 4 = 97H) H|Et500
VM 2 = 77H) (VM 3 = 07H) (VM 4 = 07H) Ci| Xt}
*ltem 17 : (VM 0 = 07) (VM 1 = 07H) (VM 2 = 87H) (VM 3 = 07H) (VM 4 = 77l) £9| &
*tem 18 : (VM 0 = 97H) (VM 1 = 17H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = O7H) O&IeH &
* Item 19 : (VM 0 = 87H) (VM 1 = 07H) (VM 2 = 17) (VM 3 = 77H) (VM 4 = 07}) ZICO
* Jtem 20 : (VM 0 = 07H) (VM 1 = 37H) (VM 2 = 07H) (VM 3 = 67H) (VM 4 = 37{) HZ
ul4 > un
un - uvl4
(Mo 8
*Jtem 1: (VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 37H) (VM 4 = 37) 2z}
*ltem 2: (VM 0 = 87) (VM 1 = 87H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 07H) Ato|C}
*ltem 3: (VM 0 = 07) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 07) (VM 4 = 07H) EtEt
*Item 4 : (VM 0 = 07H) (VM 1= 07H) (VM 2 = 07H) (VM 3 = O7H) (VM 4 = 07) AZZ20|E
*Item 5: (VM 0 = 07H) (VM 1 = 071) (VM 2 = 07H) (VM 3 = O7H) (VM 4 = 27H) HIA|
*tem 6 : (VM 0 = 671) (VM 1= 07H) (VM 2 = 27H) (VM 3 = 77H) (VM 4 = O7Hj) OIREl &
*ltem 7 : (VM 0 = 07H) (VM 1 = 57H) (VM 2 = 07H) (VM 3 = 07) (VM 4 = 07H) It¢ ofj0| =
) )
) )

—_ o~~~

—_— o~~~
—

*1tem 8 : (VM 0 = 07H) (VM 1 = 07H) (VM 2 = 77l) (VM 3 = 47li) (VM 4 = O7l}) 2E=2
*1tem 9 : (VM 0 = 07H) (VM 1 = 07H) (VM 2 = 07H) (VM 3 = 77H) (VM 4 = 07l) ZE7Ft2| A<

E

* ltem 10 : (VM 0 = 270
*Item 11 : (VM 0 = 07
*Item 12 : (VM 0 = O7H
*ltem 13 : (VM 0 = 07H
* |tem 14 : (VM 0 = 574
* ltem 15 : (VM O = 474

(VM 1 = 471) (VM 2 = 97f) (VM 3 = 07H) (VM 4 = 57H) A E3|0]
(VM1 = 17H) (VM 2 = 37H) (VM 3 = 07) (VM 4 = 07H) OtO|A|A
(VM1 =07) (VM 2 = 07H) (VM 3 = 17H) (VM 4 = 07H) ATt
(VM 1= 074) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 17H) 2| MH|
(VM1 =07) (VM 2 = 07) (VM 3 = 07H) (VM 4 = 07H) T.O.P
)
)
)

-

(

(VM1 =97H) (VM 2 = 07H) (VM 3 = 07H) (VM 4 = 97l{) H|E}500

*ltem 16 : (VM 0 = 07) (VM 1 = O7H) (VM 2 = 771) (VM 3 = 07l) (VM 4 = 07H) ClIXtet

*ltem 17 : (VM 0 = 07l) (VM 1 = 07H) (VM 2 = 87) (VM 3 = 07li) (VM 4 = 77l) £°| &=
*1tem 18 : (VM 0 = 97H) (VM 1 = 17) (VM 2 = 07) (VM 3 = 07l) (VM 4 = O7H) Ot&IcH &
*Item 19 : (VM 0 = 127H) (VM 1 = 07) (VM 2 = 17H) (VM 3 = 77li) (VM 4 = 07H) ZICO
*Item 20 : (VM 0 = 07H) (VM 1 = 37H) (VM 2 = 07H) (VM 3 = 67H) (VM 4 = 37) HZ

ul4 - Un

uln -» ul4

EEES]

ul4 -> un

unn -> ul4

(4% 841

ul4 » un
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CPT/BFT E¢t&

System Testing

1. Category-Partition Testing(CPT)

1.1 Categorize & Property & Constraints

C traint
Group Category Value onstrain
[Property prop]
Environments Current Ul initial page. [property uil]
Environments Current Ul item select. [property ui2]
Environments Current Ul input verification code [property ui3]
Environments Current Ul modify stock [property ui4]
Environments Current Ul payment [property ui5]
Environments Current Ul inform prepurchase [property ui6]
Environments Current Ul inform location [property ui7]
Environments Current Ul inform verification code [property ui8]
Environments Mode purchase Lpi)g;)perty mode] [if
ropert de2] [if
Environments Mode prepurchase L?S(])pe y mode2] [i
Environments is Advance false [if ui5]
Environments is Advance true [if ui5]
local stock d
Environments selected item stock ocal stock zero an [if ui2]
remote stock zero
. . local stock zero and valid o
Environments selected item stock [if ui2]
remote stock
Environments selected item stock valid local stock [if ui2]
expected changed
Environments xP 9 less than zero [if ui4]

CPT/BFT Sg=

local stock


https://www.notion.so/Environments-3a3173f433cf4520bae025756f44a086
https://www.notion.so/Environments-86904d8f0c424a78bd9d3477bf6d4d5f
https://www.notion.so/Environments-5c877ab36bdd4318a8ebde9efb46ea63
https://www.notion.so/Environments-b40659072eb347f98a384651e79f548d
https://www.notion.so/Environments-7ebb25f344b14194ae9b44d221b28b22
https://www.notion.so/Environments-0d4719924cdd426a84e771664349a0ef
https://www.notion.so/Environments-33607aea7d2d4c018e9a95727d4c7e47
https://www.notion.so/Environments-e22ef6a11411417d9cb0c2a086a7fcba
https://www.notion.so/Environments-85eec730ace0449e99b1f75a15b19903
https://www.notion.so/Environments-5e11b3691d29436aa1a7b4941a9516db
https://www.notion.so/Environments-2c278fa280d64dcd9f3ea761aa8130e7
https://www.notion.so/Environments-c65c084b0466405a9945b25adb1d39ca
https://www.notion.so/Environments-3b472c27e6274322b52e7eb0fd357e68
https://www.notion.so/Environments-1e2d5d9fee444b5f8f44271ca32ed4c5
https://www.notion.so/Environments-abb7a28c790e4a8f9801bb083b5ea0a2
https://www.notion.so/Environments-3e285f7e837a410abc007237f0bfdf81

Group

Environments

Environments

Environments

Parameters

Parameters

Parameters

Parameters

Parameters

Parameters

Parameters
Parameters
Parameters
Parameters

Parameters

Parameters
Parameters

Parameters

1.2 Description

Values

initial page

CPT/BFT Sg=

Category

expected changed
local stock

expected changed
local item type

expected changed
local item type

Page move button

Page move button

Page move button
Page move button

Page move button

Page move button

Page move button
Page move button
Page move button
Manage Stock
Manage Stock
Manage Stock
Verification Code

Verification Code

Description

o

Value

more than zero

less than seven

more than seven
initial page-purchase
button.

initial page-prepurcahse
button.

initial page-stock
management button

select item button

cancel button

confirm button

location button

1% payment fail

100% payment fail

select item zero

select item less than zero
select item more than zero
valid verification code

invalud verification code

A0/ MBI =L /M 22| HEO A= R

Constraint
[Property prop]

[if uid]
[if uid]
[if uid]
[if ui1]
[if ui1]

[if ui1]

[if ui2]

[if ui2 || ui3d || uid ||
ui5 || ui6l

[if ui3 || uid || ui7 ||
ui8]

[if ui6]
[if uiS5]
[if ui5]
[if uid]
[if uid]
[if uid]
[if ui3]
[if ui3]

SHAH(UIN)

e
oy
40


https://www.notion.so/Environments-6d7ed972cf7140539053975a509e3ac8
https://www.notion.so/Environments-ed568442a3384f1388af8d652c826295
https://www.notion.so/Environments-fc9f7af98bca4a769f5dad930dc342b8
https://www.notion.so/Parameters-fb6e5f132dbf491da114a68d4e503941
https://www.notion.so/Parameters-e7415a89e8e340908a5c04bc8f3c3ced
https://www.notion.so/Parameters-c6667c5e042c40c4923cee260c6135ae
https://www.notion.so/Parameters-8f49a9aa272f4939addfc6564e2a9878
https://www.notion.so/Parameters-2c4cfe73a58840dc9d9a6d85817d149b
https://www.notion.so/Parameters-8baa9b8808b54ad0bc7ab65e334552d0
https://www.notion.so/Parameters-44584c5b7ec04a9f8d78e4f00b9f78db
https://www.notion.so/Parameters-823834ef4a7c4ab6af314a40299fdb13
https://www.notion.so/Parameters-211c86781c004640aef1a557b07a491c
https://www.notion.so/Parameters-e354dc1be94547ee9d96b96c01bc2272
https://www.notion.so/Parameters-3d331db5e5504d7e9a53ed23d2fb4156
https://www.notion.so/Parameters-284c48a03f4d43489706d11b19397c08
https://www.notion.so/Parameters-9e2157345a3e42468194ca88394993f0
https://www.notion.so/Parameters-e91dfaa4dfd04c7c8d9e7d958ed74163
https://www.notion.so/initial-page-bad209a0bc6244e5970643b124ed1f17

Values
item select.

input verification code

modify stock

payment

inform prepurchase

inform location

inform verification
code

purchase

prepurchase

—h

alse

—

rue

local stock zero and
remote stock zero

local stock zero and
valid remote stock

valid local stock

less than zero

more than zero

less than seven

more than seven

initial page-purchase
button.

initial page-
prepurcahse button.

CPT/BFT Sg=

Description
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https://www.notion.so/item-select-4717e242c74f4c4c85ff462f513f55a4
https://www.notion.so/input-verification-code-e526ed9a0a674f2e9be7b6c398a6b68b
https://www.notion.so/modify-stock-cf7aecd6a2bb49a4ab31ed36aa7df7ff
https://www.notion.so/payment-18f22d21663a45f3b6aa26dc45bb4f25
https://www.notion.so/inform-prepurchase-a2225d067da246fa9696bf8bc99a7ac3
https://www.notion.so/inform-location-6bebb2c07f564da1af8929ff79a954b5
https://www.notion.so/inform-verification-code-5d03153488294f8dbe67f6d00bf829f0
https://www.notion.so/purchase-6a989440aa9e4b89ae7f7b897b639226
https://www.notion.so/prepurchase-dd4867eb5fad4bc3a9b0fba61fa15338
https://www.notion.so/false-fd08bce0b96a451ea5b099c8c6460aba
https://www.notion.so/true-937d1ed149f54ac19e661fd3936226f8
https://www.notion.so/local-stock-zero-and-remote-stock-zero-729042a470044014b04080d8d4608247
https://www.notion.so/local-stock-zero-and-valid-remote-stock-3f81b0f7597749899883b883c1b377a8
https://www.notion.so/valid-local-stock-4601f360802841a2bd1b23cdb7b0e525
https://www.notion.so/less-than-zero-258c9cbf5311420ba3f5cb8b1800b01d
https://www.notion.so/more-than-zero-1e50c90467ee443ba841200d2e467c79
https://www.notion.so/less-than-seven-5242f0bc66494e98a2c3c684f4ad5ba2
https://www.notion.so/more-than-seven-e2cfcce5f5894d2493e1e7b44706ae5f
https://www.notion.so/initial-page-purchase-button-75274dd15be94786b531885c7c0a21f2
https://www.notion.so/initial-page-prepurcahse-button-2d87ef2f7aa949ebb2121156fdb4fb1c

Values

initial page-stock
management button

select item button

cancel button

confirm button

location button

1% payment fail

100% payment fail

select item zero

select item less than

Zero

select item more than

Zero

valid verification code

invalid verification
code

Description
E7|SHAUNIIAM M| HES +=ECt

[tem selet[UI2]0IAM SEE MEHSICE

HAMES F20}
solHES 20}

PaymentStH[UI5]0AM 1% payment failHES F=2Ct
Payment2tH[UI5]AA 100% payment failHES

M| SHH[UIAI0IA M17F0e! SR E MESICt

M| SHH[UI4J0IA M7t Z4-21 &, HOfSO|X| g2 S

Ct

Mogr2| etH[UI4]0AM "7} =l =

1.3 TextFile for TSL-Generator
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https://www.notion.so/initial-page-stock-management-button-de152083932844db913558cd81c65ea4
https://www.notion.so/select-item-button-26c21082ff0046b98096bb36cef1e8fe
https://www.notion.so/cancel-button-61d5d1548ebb4535aedcbad126677836
https://www.notion.so/confirm-button-1550e68e01cf43719173af71e66fbd58
https://www.notion.so/location-button-eadfd085b1f84929a0c2e4b581fb86d0
https://www.notion.so/1-payment-fail-548840be6f9a4b2fa5ead5eff8811aaa
https://www.notion.so/100-payment-fail-6fa9f344232e46058009da0768c56b8c
https://www.notion.so/select-item-zero-24a62eff9e1f4b2d925bd11f224b11de
https://www.notion.so/select-item-less-than-zero-ace4d390a9e44ac0815da40a6d467722
https://www.notion.so/select-item-more-than-zero-74471f9db23d41b48b23e2a7877d157b
https://www.notion.so/valid-verification-code-d0f2288049f84c859ed81f8bb93d40e5
https://www.notion.so/invalid-verification-code-e91e738caae84b01977dc5e0f98217ea

J#
# Test specification for DVM
#

Environments:

Current Ul:

initial page.

[property ui1]

item select. [property ui2]

input verification code. [property ui3]

modify stock. [property ui4]

payment. [property ui5]

inform prepurchase.  [property ui6]

inform location. [property ui7]

inform verification code. [property ui8]
Mode:

purchase. [property mode1] [if ui5]

prepurchase. [property mode2] [if ui5]
is Advance:

false. [if ui5]

true. [if ui5]

selected item stock:
local stock zero and remote stock zero.

[if ui2]

local stock zero and valid remote stock.
[if ui2]

valid local stock. [if ui2]

expected changed local stock:
less than zero. [if ui4]
more than zero. [if ui4]
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expected changed local item type:

less than seven. [if ui4]
more than seven. [if ui4]
Parameters:

Page move button:
initial page-purchase button.

[if ui1]
initial page-prepurcahse button.
[if ui1]
initial page-stock management button.
[if ui1]
select item button. [if ui2]
cancel button. [if ui2 || uid || ui4 || ui5 || ui6]
confirm button. [if ui3 || ui4 || ui7 || i8]
1% payment fail. [if ui5]
100% payment fail. [if ui5]
location button. [if ui6]

Manage Stock:
select item zero. [if ui4]
select item less than zero. [if ui4]
select item more than zero. [if ui4]

Verification Code:
valid verification code. [if ui3]
invalud verification code. [if ui3]

1.4 Example of Test Data

CPT/BFT Sg=



e 1.4 Test Case Specification

Test Case 1 <single>

Pre-Condition

Current Ul : initial page

Input

<n/a>

Expected Output : T2 20| M3ME|0 UI10| &ZHE.

Test Case 2 (Key = 2.0.0.1.0.0.4.0.0.)
Pre-Condition
Current Ul : item select
Mode : <nfa>
is Advance : <n/a>
selected item stock : local stock zero and remote stock zero
expected changed local stock : <n/a>
expected changed local item type : <n/a>
Input
Page move button . select item button
Manage Stock : <n/a>
Verification Code : <nfa>
Expected Output : HOt= ™A M7t gleEz "E-LICHEH= L& O] 4
SE.
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Test Case 3 (Key = 2.0.0.1.0.0.5.0.0.)
Pre-Condition

Current Ul : item select
Mode : <nfa>
is Advance : <n/a>
selected item stock : local stock zero and remote stock zero
expected changed local stock : <n/a>
expected changed local item type : <n/a>
Input
Page move button : cancel button
Manage Stock : <n/a>
Verification Code : <nfa>

Expected Output : CIA| £7] 3HH(UI1) 2 2 SO0ttt

Test Case 4 (Key = 2.0.0.2.0.0.4.0.0.)
Pre-Condition
Current Ul . item select
Mode : <nfa>
is Advance : <n/a>
selected item stock : local stock zero and valid remote stock
expected changed local stock : <n/a>
expected changed local item type : <n/a>
Input
Page move button : select item button
Manage Stock : <n/a>
Verification Code : <nfa>

Expected Output : 2X[0f| Z{117} g10] 2[F VMO|A FolsHofstE = MA K| etH
(Ule)2 2 Ho{7tA| =Ict,
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Test Case 5 (Key = 2.0.0.2.0.0.5.0.0.)
Pre-Condition

Current Ul : item select
Mode : <nfa>
is Advance : <n/a>
selected item stock : local stock zero and valid remote stock
expected changed local stock : <n/a>
expected changed local item type : <n/a>
Input
Page move button : cancel button
Manage Stock : <n/a>
Verification Code : <nfa>

Expected Output :CFA| X7| 3tH(UI1) 22 S0}ZtCt,

Test Case 6 (Key = 2.0.0.3.0.0.4.0.0.)
Pre-Condition
Current Ul . item select
Mode : <nfa>
is Advance : <n/a>
selected item stock : valid local stock
expected changed local stock : <n/a>
expected changed local item type : <n/a>
Input
Page move button : select item button
Manage Stock : <n/a>
Verification Code : <nfa>

Expected Output : siet &4Z2| ZX| 2H 5! XY A|Ztat SHH A= 0f otH
(UI5)0| EHEICt.
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Test Case 7 (Key = 2.0.0.3.0.0.5.0.0.)
Pre-Condition

Current Ul : item select

Mode : <nfa>

is Advance : <n/a>

selected item stock : valid local stock

expected changed local stock : <n/a>

expected changed local item type : <n/a>
Input

Page move button : cancel button

Manage Stock : <n/a>

Verification Code : <nfa>

Expected Output :CFA| X7| 3tH(UI1) 22 S0}ZtCt,

Test Case 8 (Key = 3.2.0.0.0.0.5.0.1.)
Pre-Condition

Current Ul : input verification code
Mode : input verification code
is Advance : <n/a>

selected item stock : <nfa>

expected changed local stock : <n/a>
expected changed local item type : <n/a>

Input

Page move button : cancel button
Manage Stock : <n/a>

Verification Code : valid verification code

Expected Output : CtA| £7| 2tH(UNM)2 2 SO0}ZtCt
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Test Case 9 (Key = 3.2.0.0.0.0.5.0.2))
Pre-Condition

Current Ul : input verification code
Mode : input verification code
is Advance : <nfa>

selected item stock : <nfa>

expected changed local stock : <n/a>
expected changed local item type : <n/a>
Input

Page move button : cancel button
Manage Stock : <nfa>

Verification Code : invalud verification code
Expected Output : CA| £7]| 3HH(UI1) 2 2 SO0ttt

Test Case 10
Pre-Condition

(Key = 3.2.0.0.0.0.6.0.1.)

Current Ul : input verification code
Mode : input verification code
is Advance : <n/a>

selected item stock : <n/a>

expected changed local stock : <n/a>
expected changed local item type : <n/a>

Input

Page move button : confirm button

Manage Stock : <n/a>

Verification Code : valid verification code
Expected Output : RE%t AZSIEE LHUS F 2, ol Q1B
"$HET 7t LiztEL|Ch et QL Eo| E EICE.

Cotti8E=
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Test Case 11 (Key = 3.2.0.0.0.0.6.0.2.)
Pre-Condition

Current Ul : input verfication code
Mode : input verificatin code

is Advance : <nfa>

selected item stock : <nfa>

expected changed local stock : <n/a>

expected changed local item type : <n/a>

Input

Page move button : confirm button
Manage Stock : <nfa>

Verification Code : invalud verification code

Expected Output : X E AZIEE HME 22, "ERE I

ofLiEol EH L.

Test Case 12 (Key = 4.0.0.01.1.5.1.0.)
Pre-Condition

Current Ul : modify stock

Mode : <n/a>

is Advance : <nfa>

selected item stock : <nfa>

expected changed local stock : less than zero

expected changed local item type : less than seven
Input

Page move button : cancel button
Manage Stock : select item zero
Verification Code : <n/a>

Expected Output : CtA| £7| 2tH(UNM)2 2 SO0}ZiCt
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Test Case 13 (Key = 4.0.0.01.1.5.2.0.)
Pre-Condition

Current Ul : modify sotck

Mode : <n/a>

is Advance : <nf/a>

selected item stock : <n/a>

expected changed local stock : less than zero

expected changed local item type : less than seven
Input

Page move button : cancel button
Manage Stock : select item less than zero
Verification Code : <n/a>

Expected Output : CIA| £7] 3HH(UI1) 2 2 SO0ttt

Test Case 14 (Key = 4.0.0.01.1.5.3.0.)
Pre-Condition

Current Ul : modify stock

Mode : <n/a>

is Advance : <n/a>

selected item stock : <nfa>

expected changed local stock : less than zero

expected changed local item type : less than seven
Input

Page move button : cancel button
Manage Stock : select item more than zero
Verification Code : <n/a>

Expected Output :CHA| 7| 3}H(UIT) 22 SO0FZHC.



Test Case 15 (Key = 4.0.0.01.1.6.1.0.)
Pre-Condition

Current Ul : modify stock

Mode : <n/a>

is Advance : <nfa>

selected item stock : <nfa>

expected changed local stock : less than zero
expected changed local item type : less than seven
Input

Page move button : confirm button
Manage Stock : select item zero
Verification Code : <nfa>

Expected Output : M7t 7t & = ez "B E ARLCL 2D QLY
Aol EHEICE

Test Case 16 (Key = 4.0.0.01.1.6.2.0.)
Pre-Condition

Current Ul : modify stock

Mode : <nf/a>

is Advance : <n/a>

selected item stock : <n/a>

expected changed local stock : less than zero
expected changed local item type : less than seven
Input

Page move button : confirm button
Manage Stock : select item less than zero
Verification Code : <n/a>

Expected Output : {117t 27t E = QIQEE "R E ZHIL|CH 2t Ly
Ao == EIC

CPT/BFT Sg=



CPT/BFT

TE
[=)

St
=]

=}
—

Test Case 17
Pre-Condition

(Key = 4.0.0.0.1.1.6.3.0.)

Current Ul : modify stock

Mode : <n/a>

is Advance : <nf/a>

selected item stock : <n/a>

expected changed local stock : less than zero

expected changed local item type : less than seven
Input

Page move button : confirm button

Manage Stock : select item more than zero

Verification Code : <nfa>
Expected Output : {17t S7t & = QUEE "HRE U8
&o| =3 ECt.

Test Case 18
Pre-Condition

(Key = 4.0.0.0.1.2.5.1.0.)

Current Ul : modify stock

Mode : <n/a>

is Advance : <n/a>

selected item stock : <n/a>

expected changed local stock : less than zero

expected changed local item type : more than seven
Input

Page move button : cancel button

Manage Stock : select item zero
Verification Code : <n/a>

Expected Output : CtA| £7| 2tH(UNM)2 =2 SO0}ZiCt

2 LICE"2f 1 Ll

15



CPT/BFT &

Test Case 19 (Key = 4.0.0.01.2.5.2.0.)
Pre-Condition

Current Ul : modify stock

Mode . <n/a>

is Advance : <n/a>

selected item stock : <n/a>

expected changed local stock : less than zero

expected changed local item type : more than seven
Input

Page move button : cancel button
Manage Stock : select item less than zero
Verification Code : <n/a>

Expected Output : YO = gl= Z0|C}

Test Case 20 (Key = 4.0.0.0.1.2.5.3.0.)
Pre-Condition

Current Ul : modify stock

Mode : <n/a>

is Advance : <n/a>

selected item stock : <n/a>

expected changed local stock : less than zero

expected changed local item type : more than seven
Input

Page move button : cancel button
Manage Stock : select item more than zero
Verification Code : <n/a>

Expected Output : 20{'d & l= Z<L0|Ch
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Test Case 21 (Key = 4.0.0.01.2.6.1.0.)
Pre-Condition

Current Ul : modify stock

Mode . <n/a>

is Advance : <n/a>

selected item stock : <n/a>

expected changed local stock : less than zero

expected changed local item type : more than seven
Input

Page move button : confirm button
Manage Stock : select item zero
Verification Code : <nfa>

Expected Output : T E=22 73FE @2 ¢ §IQEE 7372 2=

& 4 QIAL|CHEHs QHLYAtO| Z=ICt

Test Case 22 (Key = 4.0.0.0.1.2.6.2.0.)
Pre-Condition

Current Ul : modify stock

Mode : <n/a>

is Advance : <n/a>

selected item stock : <nfa>

expected changed local stock : less than zero

expected changed local item type : more than seven
Input

Page move button : confirm button
Manage Stock : select item less than zero
Verification Code : <n/a>

Expected Output : 20{'d & l= Z<L0|Ch
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Test Case 23 (Key = 4.0.0.01.2.6.3.0.)
Pre-Condition

Current Ul : modify stock

Mode : <n/a>

is Advance : <nf/a>

selected item stock : <n/a>

expected changed local stock : less than zero

expected changed local item type : more than seven
Input

Page move button : confirm button
Manage Stock : select item more than zero
Verification Code : <n/a>

Expected Output : L0{d = gl= Z<0|Ct.

Test Case 24 (Key = 4.0.0.0.2.1.5.1.0.)
Pre-Condition

Current Ul : modify stock

Mode : <nf/a>

is Advance : <n/a>

selected item stock : <n/a>

expected changed local stock : more than zero

expected changed local item type : less than seven
Input

Page move button : cancel button
Manage Stock : select item zero
Verification Code : <n/a>

Expected Output : £7|2tH(UI) 2= SOZfLILC}.
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Test Case 25 (Key = 4.0.0.0.2.1.5.2.0.)
Pre-Condition

Current Ul : modify stock

Mode . <n/a>

is Advance : <n/a>

selected item stock : <n/a>

expected changed local stock : more than zero

expected changed local item type : less than seven
Input

Page move button : cancel button
Manage Stock : select item less than zero
Verification Code : <n/a>

Expected Output : X£7|2tH (UI1) 22 SOFZfL|C}.

Test Case 26 (Key = 4.0.0.0.2.1.5.3.0.)
Pre-Condition

Current Ul : modify stock

Mode : <n/a>

is Advance : <n/a>

selected item stock : <n/a>

expected changed local stock : more than zero

expected changed local item type : less than seven
Input

Page move button : cancel button
Manage Stock : select item more than zero
Verification Code : <n/a>

Expected Output : £7|2tH(UI) 2= SOZfLILC}.



Test Case 27 (Key = 4.0.0.0.2.1.6.1.0.)
Pre-Condition

Current Ul : modify stock

Mode . <n/a>

is Advance : <nfa>

selected item stock : <nfa>

expected changed local stock : more than zero
expected changed local item type : less than seven
Input

Page move button : confirm button
Manage Stock : select item zero
Verification Code : <nfa>

Expected Output : MEHEI S=O| M7t Z7t=[11, CHA| 7| 2tH(UIN)2E S0}t
ZLCt.

Test Case 28 (Key = 4.0.0.0.2.1.6.2.0.)
Pre-Condition

Current Ul : modify stock

Mode : <n/a>

is Advance : <n/a>

selected item stock : <n/a>

expected changed local stock : more than zero
expected changed local item type : less than seven
Input

Page move button : confirm button

Manage Stock : select item less than zero
Verification Code : <n/a>

Expected Output : 22| ZF7t 171 75111, CHA| X7[etH(UN)LE SOt

L{Ct.
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Test Case 29 (Key = 4.0.0.0.2.1.6.3.0.)
Pre-Condition

Current Ul : modify stock

Mode : <n/a>

is Advance : <n/a>

selected item stock : <n/a>

expected changed local stock : more than zero

expected changed local item type : less than seven
Input

Page move button : confirm button
Manage Stock : select item more than zero
Verification Code : <n/a>

Expected Output : MEHEl SEO| £+Z0| HAE[L, CHA| X7|tH(UNLE

ZLICt.

Test Case 30 (Key = 4.0.0.0.2.2.5.1.0.)
Pre-Condition

Current Ul : modify stock

Mode : <n/a>

is Advance : <n/a>

selected item stock : <n/a>

expected changed local stock : more than zero

expected changed local item type : more than seven
Input

Page move button : cancel button
Manage Stock : select item zero
Verification Code : <n/a>

Expected Output : £7|2tH(UI) 22 SotZiL|Ct.
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Test Case 31 (Key = 4.0.0.0.2.2.5.2.0.)
Pre-Condition

Current Ul : modify stock

Mode : <n/a>

is Advance : <n/a>

selected item stock : <n/a>

expected changed local stock : more than zero

expected changed local item type : more than seven
Input

Page move button : cancel button
Manage Stock : select item less than zero
Verification Code : <n/a>

Expected Ouput : Z£7|2tH(U) 22 S0ZLICE.

Test Case 32 (Key = 4.0.0.0.2.2.5.3.0.)
Pre-Condition

Current Ul : modify stock

Mode : <n/a>

is Advance : <n/a>

selected item stock : <n/a>

expected changed local stock : more than zero

expected changed local item type : more than seven
Input

Page move button : cancel button
Manage Stock : select item more than zero
Verification Code : <n/a>

Expected Output : £7|2tH(UI) 22 SotZiL|Ct.
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Test Case 33
Pre-Condition

(Key = 4.0.0.0.2.2.6.1.0.)

Current Ul : modify stock
Mode . <n/a>

is Advance : <nfa>
selected item stock : <nfa>

expected changed local stock : more than zero
expected changed local item type : more than seven
Input

Page move button : confirm button

Manage Stock : select item zero
Verification Code : <n/a>

Expected Output : "757F2| S =Lt Tojg = J}SLICHEH= B
Ct.

Test Case 34
Pre-Condition

(Key = 4.0.0.0.2.2.6.2.0.)

Current Ul : modify stock
Mode : <n/a>

is Advance : <nfa>
selected item stock : <nfa>

expected changed local stock : more than zero
expected changed local item type : more than seven
Input

Page move button
Manage Stock

. confirm button
: select item less than zero

Verification Code : <n/a>
Expected Output : "75 79| S =20 Ttofgt &~ Ql&L|CHEt=s B
C.
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Test Case 35 (Key = 4.0.0.0.2.2.6.3.0.)
Pre-Condition

Current Ul : modify stock

Mode : <n/a>

is Advance : <n/a>

selected item stock : <n/a>

expected changed local stock : more than zero

expected changed local item type : more than seven
Input

Page move button : confirm button
Manage Stock : select item more than zero
Verification Code : <n/a>

Expected Output : Expected Output : "75 72| S =0 Tt
= d10%0| Mo EL|Ct

Test Case 36 (Key = 5.1.1.0.0.0.5.0.0.)
Pre-Condition

Current Ul : payment
Mode : purchase

is Advance : false

selected item stock : <nfa>
expected changed local stock : <n/a>

expected changed local item type : <n/a>
Input

Page move button : cancel button
Manage Stock : <n/a>
Verification Code : <n/a>

Expected Ouput : £7|=tH(UIN)22 S0rZrL|C}.

SLICHet



CPT/BFT Sg=

Test Case 37 (Key = 5.1.1.0.0.0.7.0.0.)
Pre-Condition

Current Ul : payment

Mode . purchase

is Advance : false

selected item stock : <nfa>

expected changed local stock : <n/a>
expected changed local item type : <n/a>
Input

Page move button : 1% payment fail
Manage Stock : <nfa>
Verification Code : <nfa>

Expected Ouput : "[EE]7} LIZtSLICH 2t= HIMIX|Eo| MM ElL[CE.

Test Case 38 (Key = 5.1.1.0.0.0.8.0.0.)
Pre-Condition

Current Ul : payment

Mode : purchase

is Advance : false

selected item stock : <nfa>

expected changed local stock : <n/a>
expected changed local item type : <n/a>

Input

Page move button : 100% payment fail
Manage Stock : <n/a>

Verification Code : <n/a>

Expected Output : "ZH| HIf-ztH EXCHE FIEE O{FM|R."2t= 20%

dgElLICt.

0]
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Test Case 39 (Key = 5.1.2.0.0.0.5.0.0.)
Pre-Condition

Current Ul : payment
Mode . purchase

is Advance : true

selected item stock : <nfa>
expected changed local stock : <n/a>

expected changed local item type : <n/a>
Input

Page move button : cancel button
Manage Stock : <nfa>
Verification Code : <nfa>

Expected Output : X£7|2tH (UI1) 22 SOFZfL|C}.

Test Case 40 (Key = 5.1.2.0.0.0.7.0.0.)
Pre-Condition

Current Ul : payment
Mode : purchase

is Advance : true

selected item stock : <nfa>
expected changed local stock : <n/a>

expected changed local item type : <n/a>
Input

Page move button : 1% payment fail
Manage Stock : <n/a>
Verification Code : <n/a>

Expected Output : 21ZZEE QtLiSH= otH(UI7) 22 MeHEL|CE

26



Test Case 41 (Key = 5.1.2.0.0.0.8.0.0.)
Pre-Condition

Current Ul : payment
Mode : purchase
is Advance : true
selected item stock : <nfa>
expected changed local stock : <n/a>
expected changed local item type : <n/a>
Input
Page move button : 100% payment fail
Manage Stock : <n/a>
Verification Code : <nfa>

Expected Output : "ZX| Amj-zt 2= CHE FIES HOo|FM|R."2H= Z2E O
MM EL|Ct

Test Case 42 (Key = 6.0.2.0.0.0.5.0.0.)
Pre-Condition

Current Ul : inform prepurchase
Mode : <nf/a>

is Advance : true

selected item stock : <n/a>
expected changed local stock : <n/a>
expected changed local item type : <n/a>
Input

Page move button : cancel button
Manage Stock : <n/a>
Verification Code : <n/a>

Expected Output : £7|2tH(UI) 2= SOZfLILC}.

CPT/BFT Sg=
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Test Case 43 (Key = 7.0.2.0.0.0.6.0.0.)
Pre-Condition

Current Ul : inform location
Mode : <n/a>

is Advance . true

selected item stock : <nfa>
expected changed local stock : <n/a>

expected changed local item type : <n/a>
Input

Page move button : confirm button
Manage Stock : <nfa>
Verification Code : <nfa>

Expected Output : X£7|2tH (UI1) 22 SOFZfL|C}.

Test Case 44 (Key = 8.0.2.0.0.0.6.0.0.)
Pre-Condition

Current Ul : inform verification code
Mode : <n/a>

is Advance : true

selected item stock : <nfa>

expected changed local stock : <n/a>

expected changed local item type : <n/a>
Input

Page move button : confirm button
Manage Stock : <n/a>
Verification Code : <n/a>

Expected Output : @/ X|2FLHSH (UI7) 2 HtEL|C
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Test Case 44
Pre-Condition

(Key = 8.0.2.0.0.0.6.0.0.)

Current Ul : inform verification code
Mode : <nf/a>

is Advance . true

selected item stock . <n/a>

expected changed local stock : <n/a>
expected changed local item type : <n/a>
Input

Page move button
Manage Stock : <nfa>
Verification Code : <n/a>
Expected Output : || X|QtLiSIH(UI7) 2 T2t

: confirm button

IL|C}.

1.4.2 Test Data Specification

St
=]

=
[y

712Xl 2 HES Sl O|FHX|2Z HE YHLZ 0|F0{X|= Test Data2
21t 9l &2 LX|eICt
mtetd HES HMelet SEet A0 FOX|= FRT FIH2 2HE BT

Test Data for Test Case 15
Pre-Condition

1. Current Ul is modify stock

2. expected changed local stock < O
3. expected changed local stock < 7
Input

1.'a' (a < 0)

2. press ‘confirm button'

Expected Output

1. M= 2847t E £ glo0Z selected item@| count7t HEE
5| 7|-o||__||_-_|. "E—|'_T'_ o|-|_|.|7c|-o| jtE=|EI

29
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Test Data for Test Case 16

Pre-Condition

1. Current Ul is modify stock

2. expected changed local stock < O

3. expected changed local stock < 7

Input

1. select item 'C' which count less than zero
2.'a'(a<0)

3. press 'confirm button’

Expected Output

1. D= 24271 E £ OO 2 selected item(C)2| count7t HEE|X| g1

"ERE AYLICH et ehE o] ZHE.

Test Data for Test Case 17

Pre-Condition

1. Current Ul is modify stock

2. expected changed local stock < O

3. expected changed local stock < 7
Input

1. select item 'C' which count 'b' (|b| < [al)
2.'a'(a<0)

3. press 'confirm button'

Expected Output

1. M 2471 E £ glOB 2 selected item(C)2| count7t HESE|X| @t

"ERE AYLIC Rt et E o] ZH E.



Test Data for Test Case 21
Pre-Condition

1. Current Ul is modify stock

2. expected changed local stock < O
3. expected changed local stock > 7
Input

1. select item 'B' which count O

2.'a' (a>0)

3. press 'confirm button’

Expected Output

1. Hol E52 7878 92 + Q02 7379 S0 Tifd £~ JELICH'2=

ofLiEol EH L.

Test Data for Test Case 27
Pre-Condition

1. Current Ul is modify stock

2. expected changed local stock = O
3. expected changed local stock < 7
Input

1. select item 'D' which count 0
2.'a'(a>0)

3. press 'confirm button'

Expected Output

1. MEfot 2= DOl {1 Ji=7t aBtE B7HE 1, CHAl 27| st (UIN) 22 S0oizt
Ct.

CPT/BFT Sg=



Test Data for Test Case 28

Pre-Condition

1. Current Ul is modify stock

2. expected changed local stock = O

3. expected changed local stock < 7

Input

1. select item 'E' which count '-1' (because of setting or error)
2.'a' (a>2)

3. press 'confirm button’

Expected Output

1. MEfot Z2= EQ| 11 77t aBtE 710 a-1747}F & J2|10 ChA| 7| 2tH
(UN)2Z =otztct,

Test Data for Test Case 28
Pre-Condition

1. Current Ul is modify stock

2. expected changed local stock = O

3. expected changed local stock < 7
Input

1. select item 'E' which count 'b' (b > 0)
2.'a'(a>0)

3. press 'confirm button'

Expected Output

1. MEfot 2= EQ| {1 JH=7t aRtE B7HE0 a+b7i7t E. 210 CHA| £7| 2tH
(UIN)2SZ SofzZtCt.
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Test Data for Test Case 33
Pre-Condition

1. Current Ul is modify stock

2. expected changed local stock = O
3. expected changed local stock > 7
Input

1. select item 'F' which count 'O
2.'a' (a>0)

3. press 'confirm button’

Expected Output

1."78Fe| ST U = ASLCHEl= FUE0| Y ELCt

Test Data for Test Case 35

Pre-Condition

1. Current Ul is modify stock

2. expected changed local stock = O

3. expected changed local stock > 7

Input

1. select item 'F' which count '-1' (because of setting or error)
2.'a'(a>1)

3. press 'confirm button'

Expected Output

1."7550] SREH BONE & UALIC e ZTAO| MAELCY,

CPT/BFT Sg=



Test Data for Test Case 36
Pre-Condition

1. Current Ul is modify stock

2. expected changed local stock = O
3. expected changed local stock > 7
Input

1. select item 'F' which count 'b' (b > 0)
2.'a' (a>0)

3. press 'confirm button’

Expected Output

1."7572 ST Hojg & JASLCHet=

1.5 CPT Result

TestCase Result Description
1 Pass
2 Pass
3 Pass
4 Pass
5 Pass
6 Pass
7 Pass
8 Pass
9 Pass
10 Pass
11 Pass
12 Pass
13 Pass
14 Pass
15 Pass

CPT/BFT Sg=


https://www.notion.so/1-ec5a7f3aee1f426886685641b6b8861c
https://www.notion.so/2-fef24e3dc157464c93c0b27c446708ff
https://www.notion.so/3-70e069fc1c034a77a8e41e2983c8c147
https://www.notion.so/4-6e0d60ec78f0470ba4ec6ae001a80787
https://www.notion.so/5-7b5edc07a72f45438b0be2ef26b63699
https://www.notion.so/6-3062e604bf8c4b469b31b913febec94b
https://www.notion.so/7-804f7c906cf4426cac22f9cdf138797d
https://www.notion.so/8-ebd36acbce514c10b6482a6754ded953
https://www.notion.so/9-fdc2601df0504022a2a5b44f9e907a23
https://www.notion.so/10-59bce693b2224d63adcde1dcaec5a7c1
https://www.notion.so/11-86ca02d998814a58a34ca1e9ed6178dd
https://www.notion.so/12-1ac472cf9f71441884445ce4f97b8df5
https://www.notion.so/13-8fd0c31e91be4a56af27037504020db3
https://www.notion.so/14-a11b4e8e00d744e581bcedbe946d7f76
https://www.notion.so/15-55c1f52a0cc14886a20e7cc11e33e959

TestCase Result Description

16 Pass
17 Pass
18 Pass
19 -

20 _

21 Pass
22 _

23 -

24 Pass
25 Pass
26 Pass
27 Pass
28 Pass
29 Pass
30 Pass
31 Pass
32 Pass
33 Pass
34 Pass
35 Pass
36 Pass
37 Pass
38 Pass
39 Pass
40 Pass
41 Pass
42 Pass
43 Pass
44 Pass
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https://www.notion.so/16-fddb43794ce2484896e64df2dfb3569d
https://www.notion.so/17-fdc86f0e95a54a8a8b5cd33e4d23bbf7
https://www.notion.so/18-28fe37f542dd4b6abf377cc37f0a004b
https://www.notion.so/19-8910b10fd00e44a0ac11caf1a3c314e6
https://www.notion.so/20-3c5fb764766943178d1a56070b5f23a4
https://www.notion.so/21-07a3a09e1f92421daf0e03a9b9c2c23a
https://www.notion.so/22-af857e4e6a724f19843afced4f79de2c
https://www.notion.so/23-4b8ea8ece2d94a4aa7a39ac41298e5c6
https://www.notion.so/24-ed202ca0e8ef4c2e810f16de8dda2542
https://www.notion.so/25-4efc6530f8f847ab8a31bfff2676598c
https://www.notion.so/26-dd297427ccbe4db3912e75c787ba37ec
https://www.notion.so/27-8132ba015437417399125a7179d35528
https://www.notion.so/28-e678f2ee4c724e1491b9cfeb4411c9f7
https://www.notion.so/29-f98330e7d6da4264b6001cfbac0b481b
https://www.notion.so/30-5fbf0f85fcf14f0095adccaefa20de43
https://www.notion.so/31-d4d302d1f517427e82daf1178f11d464
https://www.notion.so/32-e9a5fbb22617447ab3ecdb9da8dd166a
https://www.notion.so/33-53477da344114ffa9847a233557751e0
https://www.notion.so/34-cd444ef8f8bc466c85273e515c65170e
https://www.notion.so/35-73c7592a8a3f460382cd869b69ddf539
https://www.notion.so/36-a82d75fc09044d08b52c14f283f5ec56
https://www.notion.so/37-81b87787332f49d883ec827ae37e6772
https://www.notion.so/38-b313538f1945494fa783c162af6dc4d7
https://www.notion.so/39-4f1b202ab6f84167bc3c171dda4ed5d8
https://www.notion.so/40-8d7288dd71994e519ae3b771ebf6dfaa
https://www.notion.so/41-08ec980c9fe04f3cb4f116f703aa6fd7
https://www.notion.so/42-2417a42f79894acc800023a58b850f6b
https://www.notion.so/43-9b232864a7a649fd805ee69305ecfc12
https://www.notion.so/44-524fe0502c4c488881d4392bc7199733

=> ( 40/40) =100% Pass

2. Brute Force Testing(BFT) Report= (35/50) =70%
Pass
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